WORKSHOP EQUIPMENT

Mobile or stationary: tool troIIeys and Everyday work is becoming increasingly systematised.
. Models with different drawer widths and depths, storage
workbenches from GEDORE are real organi- : .
) i compartments and optionally available rear panels allow
sational talents and mobile workplaces at flexibility and speed. All tool trolleys and benches are
the same time. They therefore prove to be compatible with GEDORE CT inserts and can be

indispensable helpers in workshops and individually or modularly equipped.

industrial sites.

GEDORE has been developing and manufacturing tool
trolleys and rolling workbenches since 1954. The early
Inspector and Adjutant models are still classics today.

With technical evolution, GEDORE has constantly
developed the features further. Robust and stable
bodies made from particularly thick steel sheet,
scratch-resistant powder coating, precision ball
bearings for fixed and swivel castors and the
special GEDORE high-performance chassis make
the workshop assistants so special.

“ MAXIMUM WORK
ORGANISATION

o 5 different drawer sizes
o Full compatibility with GEDORE
tool modules
e Extensions with add-on chests,
tool boards, hooks and drawer dividers

GEDOREPV

004



DURABLE,
MANOEUY

—

PERFECT IN FORM AND FUNCTION

o Wheels mounted on the outside for more stability

« Extremely robust, scratch and impact resistant and
corrosion-resistant due to powder coating

o Extra-thick sheet steel and spot-welded
components make for a heavy-duty body

* Special GEDORE chassis prevents damage to
the axle and guarantees reliable running of

INDIVIDUAL LOCKING SYSTEM

* Prevents unwanted opening, when being moved
o Easy release of the lock via tilt bar
» Automatically engages when closed

CENTRAL LOCKING SYSTEM

o One central lock for all drawers and doors
« Safe and easy handling

SMOOTH-RUNNING AND
HIGH PERFORMANCE WHEELS

o Easy steering even when loaded
o Tyres made of special solid rubber
e roller bearings

o Abrasion resistant

005



Workshop Equipment

2005 T 47 & &«
Tool trolley a
> ABS worktop with compartments for small parts > Each drawer with safety locking,
> Side walls with Euro perforation 10 x 38 mm single-hand operation
> Added safety due to heel protection and edge > Load capacity per drawer 40 kg,
protection bottom heavy-duty drawer 60 kg
> (entral locking with cylinder lock > Total load capacity 1000 kg static (750 kg dynamic)
> Wide drawers (W 640 x D 400 mm) fully extendable, > Special colours and designs available on request
removable
Code No. — H W D LD (O] Sige
1803018 20050511 5xType 1,H=67 mm, TxType 2, H =137 mm, Tx Type 3, H = 207 mm 1.020 865 605 3x 2X 83,00
2003546 20050321 3xType 1,H =67 mm, 2xType 2, H = 137 mm, 1xType 3, H = 207 mm 1.020 865 605 3x 2X 89,00
2003554 20050701 7xType 1,H=67 mm, TxType 3, H = 207 mm 1.020 865 605 3x 2x 87,00
2003562 20050810  8xType 1,H=67 mm, IxType 2, H =137 mm 1.020 865 605 3x 2 93,00
20050511 E ® A D6 = e
Tool trolley with safe locking drawers a
> ABS worktop with compartments for small parts > Wide drawers (W 640 x D 400 mm)
> Side walls with Euro perforation 10 x 38 mm fully extendable, removable
> Added safety due to heel protection and edge > Each drawer has safety locking,
protection easy single-hand operation
> Single pull-out lock prevents opening > Load capacity per drawer 40 kg,
of more than one drawer bottom heavy-duty drawer 60 kg
> Central locking with cylinder lock > Total load capacity 1000 kg static (750 kg dynamic)
> Special colours and design finishes available on
request
Code No. — H W D LD Q)] Sige
2827379  20050511E  5xType1,H=67 mm, 1xType 2, H= 137 mm, 1x Type 3, H = 207 mm 1.020 865 605 3x 2X 84,00
2005-TS-147 ¥ (9 (a8 (@ &
Tool trolley with tool assortment =

147 pieces

> Metric tool sizes > Intool trolley No. 2005 0511
> In Check-Tool-Modules

GEDOREWF =0

Code No. Contents H W D S
2980282  2005-TS-147  1/4"+1/2" socket key assortment in CT module No. TS CT2-D19-D20, 81 pcs 1.020 865 605 104,30

Combination spanner set in CT module No. TS (T2-7, 24 pcs
Tool assortment in CT module No. TS (T2-2154SK-119, 14 pcs
Pliers set in CT module No. TS (T2-142, 28 pcs

+ trolley with 7 drawers No. 2005 0511

TS (12-D19-D20 TS C12-7 TS (T2-21545K-119 TS (12-142

006



Workshop Equipment

2005-T5-190 o 2 R &
Tool trolley with tool assortment o
190 pieces

> Tools in metric sizes
> In Check-Tool-Modules

TS

> Intool trolley No. 2005 0511

Code No. Contents H w D S
2980290  2005-TS-190  1/4"+1/2" socket wrench assortment in CT module No. TS CT2-D19-D20, 81 pcs 1.020 865 605 109,60
Combination wrench set in CT module No. TS (T2-7, 24 pcs
Tool assortment in CT module No. TS (T2-2154SK-119, 14 pcs.
Pliers assortment in CT module No. TS (T2-142, 28 pcs.
Tool assortment in 2/4 CT module No. TS CT2-6-8000, 15 pcs.
1/2" set of screwdriver sockets in 2/4 CT module No. TS CT2-ITX19, 28 pcs
+ Tool trolley with 7 drawers No. 2005 0511
seeazsiil
000000000
BEEsss
TS (12-D19-D20 TS (127 TS (T2-21545K-119 TS (12-142 TS (T2-6-8000 TS (T2-1TX19
2005-TS-308 A 7 @ & ¢
Tool trolley with tool assortment o
308 pieces
> Tools in metric sizes > Intool trolley No. 2005 0511
> In Check-Tool-Modules
Code No. Contents H W D S
2980304  2005-TS-308  1/4"+1/2" socket wrench assortment in CT module No. TS CT2-D19-D20, 81 pcs 1.020 865 605 121,60

Combination wrench set in CT module No. TS (T2-7, 24 pcs

Tool assortment in CT module No. TS CT2-2154SK-119, 14 pcs.

Pliers assortment in CT module No. TS (T2-142, 28 pcs.

Tool assortment in 2/4 CT module No. TS CT2-6-8000, 15 pcs.

1/2" set of screwdriver sockets in 2/4 CT module No. TS CT2-ITX19, 28 pcs
Tool assortment in 2/4 CT module No. TS (T2-2133-2163TX, 13 pcs
Wrench set in 2/4 CT module No. TS CT2-7R-2, 28 pcs

Tool assortment in 2/4 CT module No. TS CT2-D30, 59 pcs

Tool assortment in 2/4 CT module No. TS CT2-710, 17 pcs

Hacksaw No. 407 + Tool trolley with 7 drawers No. 2005 0511

TS (T2-D19-D20 TS (127

)

i!

TS (T2-7R-2

WK,

bl

",/.l",-H:" B A

=

TS (T2-2133-2163TX

0000000

{eRofoNolcRoKo)

0

TS (T2-D30 TS (T2-710

0000CE0OOOD

TS (T2-6-8000 TS CT2-ITX19

Ty

407

007



Workshop Equipment

2004 % B [F 6 & &
Tool trolley o

> ABS worktop with compartments for small parts

> Storage compartment with perforated sheet
(Euro perforation 10 x 38 mm), two removable
drawers for small parts and door on the handle side

> Front face with Euro perforation 10 x 38 mm

> Added safety due to heel protection and edge
protection

> (entral locking with cylinder lock

> Wide drawers (W 480 x D 400 mm) fully extendable,
removable

> Each drawer and storage compartment with safety
locking, single-hand operation

> Total load capacity 1000 kg static (750 kg dynamic)

Code No. = H W D LD @) Sis®

1640704 20040810  8xType1,H=67 mm, IxType 2, H=137mm 1.020 865 605 3x 2 95,00

1640712 20040701  7xType1,H =67 mm, IxType 3, H =207 mm 1.020 865 605 3x 2 90,00

1640720 20040620 6xType 1,H=67 mm, 2xType 2, H = 137 mm 1.020 865 605 3x 2x 88,00

1640739 20040511 5xTyp1,H=67mm, 1xTyp 2, H=137 mm, 1xTyp 3, H =207 mm 1.020 865 605 3x 2 85,00

1640755 2004 0321 3xType 1,H =67 mm, 2xType 2, H = 137 mm, 1xType 3, H = 207 mm 1.020 865 605 3x 2X 82,00
20040511 E T 4 LTS N

Tool trolley with safe locking drawers

> ABS worktop with compartments for small parts

> Storage compartment with perforated sheet lining
(Euro hole 10 x 38 mm), two removable small part
drawers and door on the handle side

> Front face with Euro hole 10 x 38 mm

> Added safety due to heel protection and edge

GEDOREP

> (Central locking with cylinder lock

> Wide drawers (W 480 x D 400 mm)
fully extendable, removable

> Each drawer and storage compartment with safety
locking, single-hand operation

> Load capacity per drawer 40 kg,

protection bottom heavy-duty drawer 60 kg
> Single pull-out lock prevents opening of more than > Total load capacity 1000 kg static (750 kg dynamic)
one drawer
Code No. = H w D LD 0] e
2827360  20040511E  5xType1,H=67 mm, IxType 2, H =137 mm, Tx Type 3, H = 207 mm 1.020 865 605 3x 2X 84,00
WSL-M6 5 (@ (& B

Tool trolley workster smartline
with 6 drawers
> Worktop with PP plastic cover with front slit

and non-slip protective edge
> Front face with Euro hole 10 x 38 mm
> Sides rounded off — a minimum of abutting edges
> Individual drawer stopping stops more than one
drawer being opened, one-handed operation

GEDOREV

Code No.
3100707  WSL-M6

— H W

5xType 1,H=80mm 900 625
1xType 2, H=160 mm

008

> Central locking with cylinder lock

> 6 wide drawers (W 480 x D 400 mm) fully extending
> Load capacity per drawer 20 kg

> Total load capacity 300 kg

D Sice
510 48,00



Workshop Equipment

G

WSL-L7 v :
Tool trolley workster smartline a
with 7 drawers

> Worktop with PP plastic cover with front slit and
non-slip protective edge, as well as additional small
compartments

> Front face with Euro hole 10 x 38 mm

> Sides rounded off — a minimum of abutting edges

GEDOREVF

Code No. —

2977311 WSL-L7 5xType 1,H=80mm, 2xType 2, H=162,5 mm

> Individual drawer stopping stops more than one
drawer being opened, one-handed operation

> Central locking with cylinder lock

> 7 wide drawers (W 640x D 400 mm) fully extending

> Load capacity per drawer 20 kg

> Total load capacity 400 kg

H W D Sie
1.045 870 505 85,00

WSL-L-TS-147 ¥ 4 M &
Tool trolley workster smartline o

with 147-piece tool assortment
> Tools in metric sizes

GEDOREF

Code No. Contents
2980312 WSL-L- 1/4"+1/2" socket range in CT module No. TS (T2-D19-D20, 81 pcs.
15-147 Combination spanner set in CT module No. TS (T2-7, 24 pcs.

Tool assortment in CT module No. TS (T2-2154SK-119, 14 pcs.
Pliers range in CT module No. TS (T2-142, 28 pcs.
+Tool trolley workster smartline No. WSL-L7

TS (T2-D19-D20 TS (127 TS (T2-21545K-119 TS (12-142

> In Check-Tool-Modules

H W D Sae
1.045 870 505 97,00

WSL-L-TS-190 W 2
Tool trolley workster smartline o
with 190-piece tool assortment

G

> Tools in metric sizes

GEDOREF

Code No. Contents
2980320  WSL-L- 1/4"+1/2" socket wrench assortment in CT module No. TS CT2-D19-D20, 81 pcs
TS-190 Combination wrench set in CT module No. TS (T2-7, 24 pcs

Tool assortment in CT module No. TS (T2-2154SK-119, 14 pcs.

Pliers assortment in CT module No. TS (T2-142, 28 pcs.

Tool assortment in 2/4 CT module No. TS CT2-6-8000, 15 pcs.

1/2" set of screwdriver sockets in 2/4 CT module No. TS CT2-ITX19, 28 pcs
+Tool trolley workster smartline No. WSL-L7

TS (12-D19-D20 TS (12-7 TS (T2-21545K-119 TS (12-142 TS (T2-6-8000

> In Check-Tool-Modules

H W D Sae
1.045 870 505 93,60

TS (T2-1TX19 009



Workshop Equipment

WSL-L-TS-308 ¥ : & G
Tool trolley workster smartline o
with 308-piece tool assortment
> Tools in metric sizes > In Check-Tool-Modules
LA\
Code No. Contents H W D S
2980347  WSL-L- 1/4"+1/2" socket wrench assortment in CT module No. TS CT2-D19-D20, 81 pcs 1.045 870 505 105,60

TS-308 Combination wrench set in CT module No. TS (T2-7, 24 pcs
Tool assortment in CT module No. TS (T2-2154SK-119, 14 pcs.
Pliers assortment in CT module No. TS (T2-142, 28 pcs.
Tool assortment in 2/4 CT module No. TS (T2-6-8000, 15 pcs.
1/2" set of screwdriver sockets in 2/4 CT module No. TS (T2-1TX19, 28 pcs
Tool assortment in 2/4 CT module No. TS (T2-2133-2163TX, 13 pcs
Wrench set in 2/4 CT module No. TS CT2-7R-2, 28 pcs
Tool assortment in 2/4 CT module No. TS CT2-D30, 59 pcs
Tool assortment in 2/4 CT module No. TS CT2-710, 17 pcs
Hacksaw No. 407
+Tool trolley workster smartline No. WSL-L7

TS (12-142 TS (T2-6-8000 TS (T2-1TX19

T5CT2-D19-D20
"; ".’.J|'(:H ¢ *“' 7
i WL
'y'iui"ﬁ‘ } § qi

TS (12-2133-2163TX TS (T2-7R-2 TS (T2-D30 TS CT12-710 407

N -
il \ )

WHL-L7 % [ “ 5] ;
Tool trolley workster highline o
with 7 drawers

> Work platform with PP plastic cover with front > (Central locking with cylinder lock and security key
flattening and roll protection edge, as well as small > 5flat, wide drawers (W 640 x D 400)
additional storage compartments, can and with full extension
screwdriver holder > 2 high, wide drawers (W 640 x D 400)

> Stainless steel insert in top with full extension

> Front face with Euro hole 10 x 38 mm > Load capacity per drawer 40 kg

> Sides rounded off — minimising abutting edges > Total load capacity 500 kg

> Individual drawer stopping stops more than one
drawer being opened, one-handed operation

GEDOREWV

Code No. — H w D reS
3033708  WHL-L7 5xType 1,H =80 mm, 2xType 2, H = 160 mm 1.045 785 510 84,00

010



Workshop Equipment

1580 ¥ L & |& (¢4
Tool trolley o
with 4 drawers

> Double sided metal shutters to secure the whole
internal space

> Worktop with tough ABS plastic plate

> Front face with Euro hole 10 x 38 mm

> Added safety due to heel protection and edge

> (entral locking with cylinder lock
> 4wide drawers (W 480 x D 325 x H 45 mm),
all drawers extendable on both sides
> 1large capacity storage compartment in the bottom
> Load capacity per drawer 20 kg

protection > Total load capacity 300 kg
Code No. H w D LD Q)] She
6627550 1580 930 625 400 3x 2 41,00
1578 E A7 & &8 &

Tool trolley

> Tough ABS worktop , with 3 compartments
for small parts

> Added safety due to heel protection

> Central locking with cylinder lock

> All drawers extendable on hoth sides
> Load capacity per drawer 20 kg
> Total load capacity 200 kg

Code No. H W D LD () oS
9018140 1578 930 625 490 6% 2 43,00
1430 . ; A
Tool chest

> Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

> Shelf made of ABS plastic

> (entral locking with cylinder lock

> Especially suitable as attachment for tool trolley 1580

> 3 wide drawers (W 480 x D 325 mm)
with full extension, removable

> Each drawer with safety locking,
single-hand operation

> Load capacity per drawer 40 kg

Code No. H W D LD Q)] S5e
6618130 1430 305 625 400 3x 2 24,00
2430 2 ; A
Tool chest

> Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

> Tough ABS worktop , with 3 compartments
for small parts

> (entral locking with cylinder lock

GEDOREP

Code No. H W D LD
1888927 2430 345 775 475 3x

> Wide drawers (W 640 x D 400 xH 67 mm)
fully extendable, removable

> Each drawer with safety locking,
single-hand operation

> Load capacity per drawer 40 kg

M S
2 34,00

011



Workshop Equipment

2004 /2005 HP
Wood plate

> To beinserted into the plastic lid to obtain a flat
working surface

Made of multiplex beech plywood

Suitable for tool trolleys 2004 and 2005

and tool chest 2430

v oV

> No. 2004 HP until year of construction 03/2014
for depth 435 mm, No. 2004 HP-14 from year of
construction 04/2014, for depth 475 mm

> No. 2005 HP from year of construction 04/2022,
for depth 440mm

Code No. w D mm ] Version Sae
1446967 2004 HP 590 410 30 until year 03/2014 5,40
2879883  2004HP-14 563 409 30 from year 04/2014 5,00
3419320 2005 HP 615 440 30 from year 04/2014 4,50
R 2004 L o ) . .
Rear panel > Automatically liftable with 2 gas pressure springs, > Suitable for tool trolleys No. 2004 and No. 2005
lockable with cylinder lock (also for old No. 2002er/2003er trolleys)
> Square holes 10 x 38 mm for tool hooks and
holders No. 1500 H
A‘ ‘ﬂ
| 435—|
I
Code No. H W D S5e
1446169  R2004 L 768 770 116 24,00
RT 2004 L
Rear panel board > (an be attached to 2004 and 2005 > Square holes 10 x 38 mm for tool hooks and
(as well as old models 2002 and 2003) holders No. 1500 H
Code No. H W D S5e
2663104  RT2004L 715 765 30 11,00
1505 ¥ A =
Mobile workbench ]
> Sheet steel, corrosion resistant and scratch-proof > Load capacity per drawer 40 kg
powder-coated, GEDORE blue > GEDORE jumbo heavy-duty chassis,
> 40 mm thick multiplex beech plywood board, total load capacity 2000 kg, 500 kg when mobile
surface additionally protected by linseed oil varnish > Absolutely stable standing when lowered
> Large usable storage space with shelf and door > Mobile due to hydraulic raising mechanism,
> Added safety due to heel protection just lift the pull handle
> (entral locking with cylinder lock > Special colours and designs available on request
= > 5 wide drawers (W 480 x D 550 mm) with partial
r ,.E'E“E_'ff_"f_ extension (505 mm), removable
> Each drawer with safety locking,
single-hand operation
Code No. H W D mm ] LD Q)] Sige
6621780 1505 900 1.100 650 40 3x 2x 139,00

012



Workshop Equipment

1506 XL ® (g TS - N
Mobile workbench o

PR > Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

> 30 mm thick multiplex beech wood worktop, surface
additionally protected by linseed oil varnish

> With 2 similar drawer blocks

> Added safety due to heel protection

> (Central locking with cylinder lock per drawer unit,
keyed alike

> Wide drawers (W 480 x D 400 mm) fully
extendable, removable

TE

> Each drawer with safety locking, single-hand
operation

> Load capacity per drawer 40 kg, bottom
heavy-duty drawer 60 kg

> GEDORE high-performance running gear, total load
capacity 1000 kg, in mobile operation 750 kg

> The GEDORE trapezoidal axle construction secures
smooth running, manoeuvrability and track-keeping
also in case of maximum loads

> Special colours and designs available on request

Code No. = H w D mm ] LD 0] She
2528088 1506 XL 2511 10xType 1,H=67 mm, 2xType 2, H =137 mm, 2x Type 3, H = 207 mm 985 1.250 630 30 3x x 141,00
2528096 1506 XL2810 16xType 1, H=67 mm, 2xType 2, H=137 mm 985 1.250 630 30 3x 2 156,00
1507 XL T 4|7 0 & «

Mobile workbench extra-wide drawers

> 30 mm thick multiplex beech wood worktop,
surface additionally protected by linseed oil varnish

> One drawer unit in trolley width

> Front face with Euro hole 10 x 38 mm

> Added safety due to heel protection

> Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

1507 XL

> Individual drawer stopping stops more than one
drawer being opened, one-handed operation

> Load capacity per drawer 70 kg

> GEDORE high-performance running gear, total load
capacity 1000 kg, in mobile operation 750 kg

> The GEDORE trapezoidal axle construction secures
smooth running, manoeuvrability and track-keeping

GEDOREV > (Central locking with cylinder lock also in case of maximum loads
> Wide drawers (W 998 x D 474 mm) fully extendable, > Special colours and designs available on request
removable
Code No. — H W D mm ] LD Q)] She
3127788  1507XL 03200  3xType 2, H=101,5mm, 2xType 3,H=155mm 985 1.245 675 30 x X 130,00
3127796 1507 XL 40200  4xType 1,H=75mm, 2xType 3, H=155mm 985 1.245 675 30 3 X 136,00
3127818  1507XL 04010  4xType2,H=101,5mm, 1xType 4, H=208 mm 985 1.245 675 30 X X 130,00
3127826  1507XL30101  3xType1,H=75mm, IxType3,H="155mm, 1xType 5, H=235mm 985 1.245 675 30 3x X 130,00
3127834  1507XL50001  5xType1,H=75mm, 1xType 5 H=235mm 985 1.245 675 30 3x X 136,00
1504 XL F LT 8

Mobile workbench extra-wide
with 7 drawers

A

Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

30 mm thick multiplex beech wood worktop, surface
additionally protected by linseed oil varnish

Large usable storage space with shelf and door
Added safety due to heel protection

Central locking with cylinder lock

Each drawer with safety locking, single-hand
operation

A

vV VvV VvV Vv

EEETITT

Code No.
1988468 1504 XL

— H w D

1xType 1, H. = 67 mm extra wide 985 1.250 630
4xType 2, H. =67 mm
IxType3,H.=137mm

1xType 4, H.=207 mm

> Load capacity per drawer 40 kg, bottom heavy-duty
drawer 60 kg

> GEDORE high-performance running gear, total load
capacity 1000 kg, in mobile operation 750 kg

> The GEDORE trapezoidal axle construction secures
smooth running, manoeuvrability and track-keeping
also in case of maximum loads

> Special colours and designs available on request

mm 5] LD (0] SGe
30 3x 2X 124,00

013



Workshop Equipment

1504
Mobile workbench

1000,

> Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

> 30 mm thick multiplex beech wood worktop,
surface additionally protected by linseed oil varnish

> Large usable storage space with shelf and door

> Added safety due to heel protection

> Central locking with cylinder lock

> Wide drawers (W 480 x D 400 mm)
fully extendable, removable

> Each drawer with safety locking,
single-hand operation

> Load capacity per drawer 40 kg,
bottom heavy-duty drawer 60 kg

> GEDORE high-performance running gear, total load
capacity 1000 kg, in mobile operation 750 kg

> The GEDORE trapezoidal axle construction secures
smooth running, manoeuvrability and track-keeping
also in case of maximum loads

> Spedial colours and designs available on request

Code No. — Version H w D mm 7] LD () oyen$

1814923 15040810  8xType1,H=67 mm, IxType 2, H=137 mm Mobile workbench with 9 drawers 985 1.100 630 30 3x 2 111,00

1814931 15040701 7xType 1,H=67 mm, 71xType 3,H=207mm  Mobile workbench with 8 drawers 985 1.100 630 30 3x 2 105,00

1814958 15040321 3xType 1,H=67 mm, 2xType 2, H =137 mm Mobile workbench with 6 drawers 985 1.100 630 30 3x 2 99,00
1xType 3, H=207 mm

6622830 15040511 5xType 1,H=67 mm, IxType 2, H =137 mm Mobile workbench with 7 drawers 985 1.100 630 30 3x 2X 102,00
1xType3,H=207 mm

6623050 150405115 5xType 1, H=67 mm, 1xType 2, H= 137 mm Mobile workbench with 7 drawers 985 1.100 630 30 3x 2 112,48
1xType 3, H=207 mm and vice

BR 1504 . R CRC=1 ¢ N

Mobile workbench

e

> Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

> 30 mm thick multiplex beech wood worktop,
surface additionally protected by linseed oil varnish

> Large usable storage space with shelf and door

> With rear panel, square holes 10 x 38 mm, can be
lowered, can be extended by 2 gas pressure springs

> Added safety due to heel protection

> (entral locking with cylinder lock

> Wide drawers (W 480 x D 400 mm) fully extendable,
removable

> Each drawer with safety locking,

single-hand operation

Load capacity per drawer 40 kg,

bottom heavy-duty drawer 60 kg

GEDORE high-performance running gear, total load
capacity 1000 kg, in mobile operation 750 kg

> The GEDORE trapezoidal axle construction secures
smooth running, manoeuvrability and track-keeping
also in case of maximum loads

Special colours and designs available on request

>

v

v

Code No. Designation H W D mm 5] LD @) She
6623990  BR15040511LH  Mobile workbench with rear panel + hook assortment 1.635 1.100 665 30 3x 2 130,00
6624450  BR15040511L Mobile workbench with rear panel 1.635 1.100 665 30 3x 2 128,00
B1500L =)
Workbench with tool cabinet
> Sheet steel, corrosion resistant and scratch-proof > Separate central locking of drawers and shutter
powder-coated, GEDORE blue with cylinder locks
> 40 mm thick multiplex beech plywood board, surface > 5 wide drawers (W 480 x D 550 mm) with partial
additionally protected by linseed oil varnish extension (505 mm), removable
> Large storage space with shutter > Load capacity per drawer 40 kg
> Added safety due to heel protection > Total load capacity (workbench) 2000 kg
> Shutter with cylinder lock > Special colours and designs available on request
> Back panel with square holes 10 x 38 mm
Code No. Version H w D o) LD )] e
6618050 B 1500L Workbench with sheet metal shutter 900 2.000 875 40 3x 2 166,00
6618210  BR1500LH  Workbench with tool cabinet 1.790 2.000 875 40 3x X 203,73

014



Workshop Equipment

1502 T @ & [ (3 ke
Mobile workbench o

> Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

> 25 mm thick multiplex beech wood worktop,
surface additionally protected by linseed oil varnish

> Large, easily-accessible spaces for bulky parts

> Added safety due to heel protection

> Central locking with cylinder lock

> 6 wide drawers (W 480 x D 400 mm) fully
extendable, removable

> Each drawer with safety locking,
single-hand operation

TE

> Load capacity per drawer 40 kg, bottom heavy-duty
drawer 60 kg

> GEDORE high-performance running gear, total load
capacity 1000 kg, in mobile operation 750 kg

> The GEDORE trapezoidal axle construction secures
smooth running, manoeuvrability and track-keeping
also in case of maximum loads

> Spedial colours and designs available on request

Code No. Designation H w D mm ] LD (©) Sae

6620540 1502 Mobile workbench 875 950 630 3x 2 82,00

6620620 15025 Mobile workbench with vice 875 950 630 3x 2x 85,00
B 1525 ¥

Folding workbench

> Strong beech wood worktop with zinc-plated steel
edge protector, corrosion resistant
> Total load capacity 500 kg

> Steel tube, corrosion resistant and scratch-proof
powder-coated, GEDORE blue

Code No. H W D mm ] She
6622910 B 1525 810 1.000 700 30 32,00
R1504L
Rear panel > (an be attached to workbenches 1504 and 1505 > Square holes 10 x 38 mm for tool hooks and
> Automatically liftable with 2 gas pressure springs, holders No. 1500 H
lockable with cylinder lock
Code No. H W D Sioe
6623800 R1504L 640 1.000 70 27,00
RT 1504 L
Rear panel board > (an be attached to workbenches > Square holes 10 x 38 mm for tool hooks and
1504 and 1505 holders No. 1500 H
Code No. H W D Sioe
2477025  RT1504L 715 1.025 30 12,00
R 1504 XL-L
Rear panel > (an be attached to workbenches > Square holes 10 x 38 mm for tool hooks and
1504 XL and 1506 XL holders No. 1500 H
Code No. H W D S5e
2251787  R1504XL-L 640 1.190 70 29,00

015



Workshop Equipment

1500H13
Anti-slip mat
Products sold by the metre

> Enormous slip resistance on
many different surfaces
> Individually cut to size

> Chemical resistant
> Dimensions: W 475 x L 2000 mm

Code No. Lm L oprS
5790250  1500H13 2 475 0,54
E-1500 - E-2500 !
; ; Code No. H L Suitable for models S1%
Lengthwise divider > In2d|ﬁereqt heights. ’
clotted The figures in brackets 5315880  E-B1500/38 60 548 B 1500 (1-3), 1505 (1-3) 0312
refertothedrawersthat ;3500 pysgoa 42 317 1580 0,136
A can be divided
o > In4differentlengthsfor 5326490  E-1504KL/57 60 398 1502(1-5), 1504 (1-6), 2004 (Typ 1) 0,208
< varying drawer depths 5326570  E-2500/62 60 320 1430 0,19
X
E-2005 CT . Cde Mo H T
Lengthwise divider > As separator/fixing )
without slots for the modules 2104601  E-2005CTH-40 40 0248
No. 2005 (T2
E-1580
: Code No. L H S
Crosswise divider > SU|tal?Ie forno. 1580 “
> In 3 different lengths, 1394878  E-1580/11-40 40 40 0,012
tofitthe lengthwise 5325760  E-1580/11-80 80 40 0,024
dividers
5326140  E-1580/11-120 120 40 0,036
E-3000
: . Code No. L H iyrsy
Crosswise divider > Suitable for models: o
No. 1430, B 1500 (1-3), 5326060  E-3000/37-80 80 55 0,035
1502(1-5), 1504 (1-6), 5326220  E-3000/37-120 120 55 0,050
1504 XL, 1505 (1-3),
1506 XL (type 1),
2004 (type 1), 2005
(type 1), 2430
E-51507 XL 5F1 Code No. Pieces S
Lengthwise divider set
5 pieces 3101258 E-51507 XL SF1 5 0,001
E-51507 XL SF2-5 Code No. Pieces op.S
Lengthwise divider set
3101274  E-S1507 XL SF2-5 2 1,62

2 pieces

016



Workshop Equipment

1400L
Tool cabinet

> Sheet steel, corrosion resistant and scratch-proof
powder-coated, GEDORE blue
> With shelf, 3 drawers and fixed tool holders

> Central locking with cylinder lock

> Including tool modules for sockets, ratchet,

Code H W Sioe
6612600  1400L 970 650 33,00
R1500L
Tool cabinet > Suitable as workbench Code No. H w St
top 6617910 R1500L 890 1.810 78,00
> Sheet steel, corrosion
resistant and scratch-
proof powder-coated,
GEDORE blue
> Rear panel with Euro
holes 10 x 38 mm
> (entral locking with
cylinder lock
1450 L
Tool panel > Further papels can be Code No. H w St
empty added in either 5617110 14501 495 985 5,50
direction, with special
spacers for wall fitting
> Euroholes 10x 38 mm
1500H 4
; Code No. Sig®
Base plate > Wth M6thrgad for o
universal fixing 1446185  1500H4 0,026
> Suitable for perforated
panels with square holes
10x 38 mm
1500H2-1500H3 —
Spring clamp > Suitable for perforated Code No. Fmm> 0 s
panels with square holes 2008351  1500H2-10 31 10-12 0,025
10x38 mm 2008378 1500H2-16 31 16-18 0,027
5803760 1500H2-13 31 12-16 0,026
5803840  1500H3 44 23-29 0,028
1500HO —
Tool hook > 04 mm especially Code No. mm=t o T
Straight mandrel suitable for GEDORE 5803410 1500H0 50 4 0,028
screwdrivers with
hanging hole
> Suitable for perforated
panels with square holes
10x38 mm

017



Workshop Equipment

1500H18 <mm
Tool ook > Suitable for perforated Code No. fmm> 0 e
straight mandrel panels with square holes 2008386 1500 H 18-50 50 6 0,034
L 2008394 1500H18-100 100 6 0,046
2008408 1500 H 18-150 150 6 0,056
1500H5 . <mm ] S
Paper roll holder > Suitable for perforated Code No. fmm 0 ©
panels with square holes 5798660  1500H5 250 6 0,094
-»\ i 10x38 mm
\\,/?
1500H1 N
To0l Mook > Suitable for perforated Code No. fmm> 0 Rl
inclined hook end panels with square holes 5803680  1500H1 50 4 0,028
10x38 mm
1500 He9 S
Tool hook > Suitable for perforated Code No. fmm> 0 e
inclined hook end panels with square holes 2008572 1500 H 29-50 50 6 0,034
URSElsy 2008580  1500H29-100 100 6 0,046
1500 H 30
Tool hooke > Suitable for perforated Code Ne. 11 L2 Sid
for sockets panels with square holes 2008599  1500H30 15 40 0,034
10x38 mm
1500 H20
ool hook > Suitable for perforated Code Na. fmm> o i
vertical hook end panels with square holes 1879162 1500 H 20-35 35 6 0,034
WESEILC 2008440 1500H20-75 75 6 0,046
2008459 1500 H 20-135 135 6 0,056

018



Workshop Equipment

1053 EOE 39 > Suitable for perforated Code Mo D Sioe
for pliers panels with square holes 2656582 1500 H 39 230 0,03
10x 38 mm
i

1500 H19 N
Tool hook > Suitable for perforated Code No. fmm> 0 T
double, straight rmandrel panels with square holes 2008416 1500 H19-50 50 6 0,074
UL 2008424 1500H19-100 100 6 0,098
2008432 1500 H 19-150 150 6 0,118
1500 H21 <mm
Tool Mook > For hammers and Code No. f=mm>i 0 S
double, vertical ratchets 2008475 1500H2135 35 6 0,076
hook end > Suitable for perforated 1879170  1500H21-50 50 6 0,080
panels with square holes
10x38mm 2008483 1500H21-75 75 6 0,09
1500 He2e2
Too! holder > Suitable for perforated Code No. w D T
for pliers panels with square holes 1879189  1500H 22-55 55 20 0,066
[ 2008491 1500H2235 35 2 0,62
1500 H 31
Round holder > Suitable for perforated Code No. w L T
panels with square holes 2008602 1500 H31 27 65 0,068
10x38 mm
b50? H haBId > Suitable for perforated Code No. i} oo
acnine nolaer i
panels withsquareoles 4479197 150042360 60,0 0,068
10x38 mm
2008513 1500 H 23-40 40,0 0,068
%)502 ':j33 > Suitable for perforated Code No. w H D ] S%
ipe holder :
panels with square holes 3008659 1500K33.60 58 67 74 60,0 0,114
10x 38 mm
2008637 1500 H 33-100 58 96 114 100,0 0,156

019



Workshop Equipment

%5?3 "134 > Suitable for perforated Code No. Version oy
00l holaer .
for screwdrivers ?g';e;;‘:::: squareoles 1g70500 1500 H 24-6 for 6 parts 0,10
2008548  1500H24-12  for12parts 040
ésﬁ)gtHth > Suitable for perforated Code No. w H D oyers
[l olaer ;.
for 28 pieces ?g';e;;":’r:m squareholes 5008645 1500H3414 200 60 37 020
> With 14 holes, diam.:
2€a.3.04.26.57.58.5
16.5mm, 1ea. 10.5
12.5mm
1500He7 > For 11 Sockets Code  No. w H D &5
Jockerhoer > Hole diameter 1920634 1500427 352 60 54 0,50
10x 25 mm and
B 1x27.5 mm
"-&- > Suitable for perforated
panels with square holes
10x38 mm
#5?8 EES > Suitable for perforated Code No. w 1] S5
Ool holaer ;
for spray cans ?Snxe;;m squarefoles 1879219 15004 25-3 300 70,0 0,60
T
2500 H BE'S > Suitable for perforated Code No. W 6%
pray can holder :
for 8 spray cans ?g?{egzwn:m squareoles 3927907 15001 25-8 99 2,05
> With carrying handle
1500H37 > Suitable for perforated Code No. W H D S5
Joanneroider panels with square holes  yp9g606 1500137 124 66 145 0.2
10x38 mm '
> For 8 spanners No. 1B,
m 2,4,6,7,7R,7UR
.}'5}' w4 i
? .
i
1500H38 > Suitable for perforated Code No. W H D Siae
Soanneroider panels with square holes 90656 1500138 75-147 27 60 0,40
10x38 mm
= 5 > For 10 spanners,

Lo
e

020

suitable for No. 2, 6



Workshop Equipment

1500 H 28

et > Suitable for perforated Code No. W H D e
e q
panels with square holes 1933799 150028 496 168 303 3,19
10x38 mm
:Fl>500 H”LLO‘d > For paper rolls up to Code No. Sio®
aperro olaer :
diameter 320 mm and 2997754 1500H 40 1,10
width 320 mm
> Suitable for all tool
trolleys/benches with
Euro holes
10x 38 mm
#500 H9 > Suitable for perforated Code No. w H D oS
ray .
panels with square holes 1446954 1500 H9.75 456 50 75 0,854
10x 38 mm
5792540 1500 H9-100 456 50 100 0,854
#500 H10 > Quadruple divided Code No. W H D Shd
ray .
> Suitable for perforated 5792620 1500H10-100 456 50 100 0,84
panels with square holes
10x38 mm
\T/S \1t9 H > Forsockets Code No. W D Sie®
ool tray p
> Suitable for perforated 5152640 VS T9H 570 2545 0,55
panels with square holes
10x 38 mm
V51582 . Code No. W H D Sioe
Tray > Suitable for perforated
panels with square holes 5150270  VS1582-3 320 100 90 1,118
10x 38 mm
\C/hS 2‘4? E > For 6 chisels Code No. W H D o
Isel nolder f
empty > Suitable for perforated 5456270 VS 245H 195 % 2 030
panels with square holes
10x 38 mm
E ilsd > For double open ended Code No. Version H W D s
olaer
Spe.anner sets No. 6 5073930 E-PH6-8L Plastic holder empty for 8 spanners No. 6 68 53 25 0,018
> Suitable for perforated
panels with square holes 5074070 E-PH6-12L  Plastic holder empty for 12 spanners No. 6 90 70 30 0,038

10x38 mm

021



Workshop Equipment

I GEDORE WORKMO

- e Low weight due toaluminum-plastic mix
e Ergonomic working heights

Z INDIVIDUAL

- o WorkMo adapts exactly to the requirements
of your individual working day
o With the foam configurator the tool
equipment can be arranged individually

The mobile arrangement-, transport-
and working-system for maximum
flexibility and safety

3 STURDY

- o Robust handling — lockable - durable
o With rounded plastic edges as impact
and scratch protection
' 5
/ —— 4 FEXIBLE
%43 - e Expandable at any time

(with castors, worktop etc.)

_—_'_,__,_’——‘:'1 o For further system components see Sortimo®

.. 5 COMPATIBLE

- e with the Sortimo® L-BOXX® range

y o with the GEDORE tool modules1500 ES/1500 CT
y 6 DRAWER EQUIPMENT
- e |deal to equip WorkMo components with

GEDORE tools — Be aware of the respective
drawer widths:
© B2 = maximum 2x 1/3 modules o B3 = maximum 4x 1/3 modules
or 1x 2/3 module or 2x 2/3 modules

(o] e e CR-H-Ko1
jEEETIIIY

- |i|

R o )

Combines transport, order and work —
ergonomically and efficiently

Thanks to the modular design quickly
disassembled into portable units
Multifunctional — with system

Ideal for all who need a flexible

and mobile workplace

Individual modules or directly

as a workstation

The intelligent way to work
mobile and professionally!
Light and load secured



Workshop Equipment

1110 WMW-2
Tool trolley WorkMo Be

> (onsisting of: No. 1110 WM 24, 1110 WM 221,
1110 WMR 23 and 1110 WMHP 2

> 6 drawers with full extension suitable for
GEDORE 1500 ES/1500 CT modules

> Wooden worktop for assembly work
> Compatible with Sortimo® interior vehicle fittings
and load safety

Code No. W D H Sioe
2954435 1110 WMW-2 580 550 1.140 42,60
1110 WMW-3
Tool trolley WorkMo B3 > Consisting of: No. 1110 WM 34, 1110 WM 321, > Wooden worktop for assembly work
1110 WMR 23 and 1110 WMHP 3 > Compatible with Sortimo® interior vehicle fittings
> 6 drawers with full extension suitable for and load safety
GEDORE 1500 ES/1500 CT modules
Code No. W D H Sioe
2954443 1110 WMW-3 845 550 1.140 52,80
1110 WM 24
Tool box module WorkMo B2 > 4 drawers with full extension, suitable for > Load capacity per drawer 30 kg
4 drawers H6 GEDORE 1500 ES/1500 CT modules
> Compatible with Sortimo® interior vehicle fittings
and load safety
Code No. w D H Siee
2954311 1110WM 24 526 396 506 18,60
1110 WM e21
Tool box module WorkMo B2 > 2 drawers with full extension suitable for > Load capacity per drawer 30 kg
2 drawers H6, compartment for L-BOXX® GEDORE 1500 ES/1500 CT modules
> Compatible with Sortimo® interior vehicle fittings
and load safety
Code No. W D H S
2954338  1110WM 221 526 396 506 15,26

023



Workshop Equipment

1110 WM 34
Tool box module WorkMo B3
4 drawers HE

> 4 drawers with full extension, suitable for
GEDORE 1500 ES/1500 CT modules

> Compatible with Sortimo® interior vehicle fittings
and load safety

> Load capacity per drawer 60 kg

Code No. w D H oo
2954346 1110 WM 34 789 396 506 27,92
1110 WM 321 ) o )
Tool box module WorkMo B3 > 2 drawers with full extension suitable for > Load capacity per drawer 60 kg
2 drawers HE, compartment for L-BOXX® + GEDORE 1500 ES/1500 CT modules
S-BOXX® > Compatible with Sortimo® vehicle
and fixing equipment
Code No. w D H oo
2954354 1110WM 321 789 396 506 22,12
1110 WMHP 2
. : Code No. W D H Sae
Wood plate for > 20 mm thick laminated
WorkMo B2 beech wood worktop 2954362 1110WMHP2 572 426 41 4,50
> Itis placed by clicking
on the WorkMo Boxes
B2 drawers to get a flat
work surface
1110 WMHP 3 -
; ; Code No. w D H Sioe
Wood plate for > 20 mm thick multiplex e
WorkMo B3 beech wood worktop 2954370  1110WMHP3 835 426 M 4,50
> Itis placed by clicking
on the WorkMo Boxes
B3 drawers to get a flat
work surface
1110 WMS 23
Locking syster > Protects drawers and Code No. oo
for WorkMo B2+B3 BOXX®es against 2954389 1110 WMS 23 0,92
extraction
> Secures the tools from
unauthorised access

024



Workshop Equipment

éﬁg‘é@g? [Sg A for > Makes the tool box Code No. Sie
WarkMo B2+B3 modules mobile 2954397  1110WMR23 3,20
> 4steerable wheels,
2 with total brake
> Max. Load capacity:
150 kg (per roller skate
S aame. S
&I‘ngr\glr\/l VE/QO??M 0B2 > Makes the tool box Code No. oo
modules mobile 3002721 1110 WMR 24 8,00
> Compatible with
e Sortimo® vehicle and
o - = 18} fixing equipment
t > Load capacity: 200 kg
> Dimensions:
612 x493 x 144 mm
éﬁg‘g%ﬁg& 0B3 > Makes the tool box Code No. Al
modules mobile 3002713 1110 WMR 34 9,00
> Compatible with
-~ Sortimo® vehicle and
o - v fixing equipment
T > Load capacity: 200 kg
> Dimensions:
854 %493 x 144 mm
%)%Se\r/\é?t-r e3 > To divide the drawers Code No. M
for WorkMo drawers > 1 cross divider, 2954419 1110WMT 23 0,25
B2+B3 2 lengthwise dividers
and 7 mounting
brackets
~n
é}énggl@)l‘/EIgB 3 > Display window for Cade Ho. W i i T
with window quick content checking 2954427  1110WMSB3 147 351 153 0,68

v

Ideal for the storage of
consumables, such as
screws etc.

025



MOBILE
TOOL STORAGE

Stow, organise, secure and transport:
GEDORE has a solution for all these
requirements in its extensive tool
storage range.

Tight construction spaces, unpaved access roads,
frequently changing work locations: workplaces
outside the workshop are as varied as the work that
has to be done there.

In addition to the tried and tested toolbox, which can
withstand even the most adverse conditions on the

a
m
<)
=
)
m o
b
L

026

construction site, GEDORE offers a series of cases and
the MIXX&CLICK® modular system. A solution based on
the Sortimo® transport box system. The BOXX®en, tool
modules and the extensive range of accessories offer
every conceivable scope for individualisation and can be
combined to form a well-organised "workshop-to-go".
Another plus: MIXX&CLICK® is fully compatible with
Sortimo's load securing concept from Sortimo®. Tool
storage from GEDORE - flexible, mobile, safe and light.




MOBILE WORK SOLUTIONS

o Versatile combinations

o Fasy to transport E“
 Mobile storage systems ‘

k| GEDORE MODULAR

ASSEMBLY KIT MIXX&CLICK®
STORAGE SPACE MIRACLE -

o Tool assortments in the CHESTS, CASES AND TOOLBOXES

Sortimo®Transportbox System
o Easy-Click connection system for simple o Large storage volume

combination of several L-BOXXes o Fully extendable tool compartments
o (an be integrated into vehicles with « High stability

TUV-certified Sortimo®vehicle equipment * Tools always within reach
o Expandable with tool cards for case lids

DURABLE MATERIALS

« Toolboxes made of extremely robust sheet steel

 Made for continuous use - materials are subjected
to strict controls and stress tests

o The storage solutions of the MIXX&CLICK series
are made of particularly durable plastic



Mobile Tool Storage

1263 L ;
Too! box > Great extendability of — o . i ! T
3 compartments the tool compartments 6608250 12631 158 420 25 4,40
> Great stability even if
only one side is opened
> Dimensions: H 158 x
W420xD 225 mm
e —
=\
=
%420%‘
1265 L
Tool box > Great extendability of Code No. H w D A
5 compartments the tool compartments 6609060 12651 210 420 25 5,84
> (reat stability even if
only one side is opened
> Dimensions: H210x
W 420 x D 225 mm
i
T —
307 ;[
LT
HAZU%‘
1335
Tool box > Great extendability of - L2 : uJ y LT
5 compartments, the tool (Ompartments 6610580  1335L 210 535 225 6,84

long pattern

> Great stability even if
only one side is opened
> Dimensions: H210 x

W535xD 225 mm

%515%‘
WK1072L > With carrying handle and carrying strap > With hard plastic base, thus no moisture absorption
Tool tbog > With numerous pockets and additional from below
empty stretch band holders
Code No. W D H S
3100421 WK 1072L 515 335 360 2,40

144027
Tool box JUMBO
zinc-plated

028

> Made of specially galvanised sheet steel,
for tough everyday use
> Optimum corrosion protection, spray water protected

> Stopper to hold the lid open
> Lockable through padlock

Code No. H W D She
6628280  1440Z-70 320 698 387 17,00
6628360  1440Z-83 340 841 427 21,00
6629170  1440Z-91 440 918 537 30,00



Mobile Tool Storage

1440
Tool box JUMBO

> Sheet steel construction with strong handles
> Strong joints, handles and stopper to hold

> Supported load 1440-70, -83, -91,-100 up to 400 kg
without using the fold-down handles. When lifting,

the lid open static supporting power of the fold-down handles
max. 150 kg
Code No. H w D She
6616510  1440-70 320 698 387 19,00
6616780  1440-83 340 841 427 23,00
6616860  1440-91 440 918 537 32,00
6616940  1440-100 320 998 387 25,00

WK 1000 L
Tool case TOURING
empty

> Impact-resistant blown polypropylene, resistant to

oil and acid and extremes of temerature and weather

Code No. W D
2881381  WK1000L 430 360

> With Check-Tool inserts
> Delivery without tools

H Sige
160 1,96

WK1091L
Tool case
empty

> Made from environmentally friendly tanned cowhide

> Carefully processed with strong industrial seams
> Edges reinforced with aluminium angle brackets,
metal parts durable riveted

Code No. W D
1953729  WK1091L 430 200

> Theft protection by 2 lockable latches,
delivery includes 2 keys

290 4,20

WK1040 L
GEDORE Roller tool case
empty

> Drive handle with user-friendly telescopic handle
> Wide wheelbase with 2 inline rollers provide for
a tilt resistant drag
> Robust aluminium frame with bumper protection,
shells made of impact-resistant ABS plastic

Code No. W D
3065391  WK1040L 490 395

> Lockable with 2 tilting cylinder locks and
one combination lock

H Sige
200 6,20

WK1041L
Tool case large
empty

> Robust aluminium frame with bumper protection,
shells made of impact-resistant ABS plastic

> The opened case lid is protected against
unintentional closing by the safety lid holder

Code No. W D
3065405 WK 1041L 490 395

> Lockable with 2 tilting cylinder locks and one
combination lock

H Sise
185 490

029



Mobile Tool Storage

MOBILITY AT ITS BEST

2 powerful partners - 1 system

e Tools, machines and material must be easily, safely,
quickly and conveniently transported to the place of use
i.e.in a preferably resources-saving manner.

e Lengthy loading times must be avoided at all cost -
guaranteed load securing a pre-condition here!

o GEDORE's Sortimo® transport box system relies
on a tried-and-tested mobility standard

o The perfect alliance for intelligent,
efficient process and project design planning

Sortimo

Intelligent Mobility

FOR YOUR SAFETY YOUR ADVANTAGE

o The GEDORE L-BOXX®es are fully compatible with o Intelligent order systems
Sortimo® vehicle settings o Flexible, modular and individual
o GEDORE L-BOXX® quality is constantly examined on the o |deal for mobile deployments
basis of the strict Sortimo® directives. Sortimo® has its o Diverse and highly efficient
quality endorsed through crash tests organised by TUV. o Quick accessing of tools - perfect organisation
o Ifit comes to the worst, at least the tools stay where e Transport box standard - e.g. compatible with
they belong - securely in their GEDORE L-BOXX® electrical tool manufacturers

o Guaranteed safety

030




Mobile Tool Storage

1100-01
GEDORE L-BOXX® 136
with Craftsman for the handyman or

assortment do-it-yourselfer

58 pieces > With Check-Tool insert
for quick check of tool
completeness

Made of impact and
shock resistant ABS
plastic

For integration in
vehicles with Sortimo®
vehicle equipment

Code No.
2658194

> Especially suitable
1100-01

v

v

2936828 1100

(12-01
1100 CT2-01
Code No.
2690055  EI-1100-01

——
okge

Contents

1/2" reversible ratchet No. 1993 U-20 9,50
1/2" extension no. 1990-10, 250 mm

1/2" universal joint No. 1995

1/2" socket wrench insert No. 19,10 111213141516 17 18 1921 22 24 mm
Adjustable open-end wrench No. 60 CP 8, 8"

Universal Pliers No. 142 10JC, 10"

2Chandle power side cutter No. 8316-160 JC, 160 mm

2Chandle Multiple Pliers No. 8133-180JC, 180 mm

2Chandle engineer’s hammer No. 600 H-500, 500 g

Bricklayer’s chisel No. 110-256, 250x16 mm

Control cabinet key UNIVERSAL No. 45 S, for control cabinets and locks
Miniature LED light No. TFK 649

Hinged base No. E-649 F for LED light No. TFK 649

(able knife No. 0063-08, blade L. 80 mm

Offset screwdriver set No. H 42-10, hexagon 1.31.522.534568 10 mm
Offset screwdriver No. SCL 43 TX-80, T9T10T15T20 25 T30 T40

VDE Screwdriver set No. VDE 2170-2160 PH-077 Slot 2.54 5.5,
crossrecessPHO 12

Voltage Detector Slot No. 4615 3, 220-250V, 3mm

Wooden folding rule No. 4533-2, 2 m

Warding file set no. 8728, flat file, triangular, square, half-round, round file
+ GEDORE L-BOXX® 136 No. 1100 L

1/2" reversible ratchet No. 1993 U-20 6,76
1/2" extension No. 1990-10, 250 mm

1/2" universal joint No. 1995

1/2" socket No. 19,10 111213 14151617 18 192122 24 mm

Adjustable wrench, open end No. 60 CP 8, 8"

Universal pliers No. 142 10 J, 10"

Power side cutter No. 8316-160JC, 160 mm

2Chandle Multiple pliers No. 8133-180 JC, 180 mm

2Chandle Engineers"hammer No. 600 H-500, 500 g

Bricklayer’s chisel No. 110-256, 250x16 mm

Multi fitting key UNIVERSAL No. 45 S, for control cabinets and locking devices
Miniature LED lamp No. TFK 649

Swivel end No. E-649 F for LED lamp No. TFK 649

Cable knife No. 0063-08, blades L. 80 mm

-
g

Designation

Foam insert 2/2 L-BOXX 136, empty 0,20




Mobile Tool Storage

H MIXX &CLICK

The GEDORE modular system

444
L&;HH

GEDORE L-BOXX®136
POWERED BY SORTIMO®

Nl

The Sortimo transport box system is perfectly suited to the needs of mobile use.

The basis for the MIXX&CLICK modular system is the tried and tested GEDORE L-BOXX® 136
with front handles and tool card in the lid, as well as the GEDORE i-BOXX® 72. These are
multi-compatible and therefore extremely flexible, allowing a high degree of customisation.
The MIXX&CLICK system is particularly impressive because of the countless combination
options offered by the pre-configured GEDORE tool assortments - modules from other
manufacturers, such as Bosch power tools, can also be used. In combination with other
components from the Sortimo® world (transport boxes and system components), you can
create a well-organised workshop "to go", that is tailored to your personal needs.

TOOL CARD

For individual upgrading or adaptation
of the L-BOXX®, depending on the area
of application

TOOL MODULES

For individual assembly of the L-BOXX®
with 1/2 and 2/2 modules

I-BOXX® RACK-ACTIVE
CLICKSYSTEM

Enables safe transport of your i-BOXX®
tool assortments and is compatible with
all L-BOXX®s

L-BOXX® ROLLER

Connect rollers and BOXX®s by putting
them on and clicking them together

* Robust construction

* Tool easy and convenient to transport to the place of use

o Made of impact and shock-resistant ABS plastic

o Standard lid handle for carrying the L-BOXX® horizontally

o Additional hand-friendly front handle for carrying the L-BOXX® vertically

o Splash-proof

o With GEDORE tool card for more order and storage space

o Easy Click System: practical plug-in connection for two or more L-BOXX®s,
for secure hold and easy transport

o Fasy integration into vehicles with TUV-tested Sortimo® vehicle equipment



Mobile Tool Storage

1100-02

Tool case ELECTRICIAN
in GEDORE L-BOXX® 136,
36 pieces

1100L

1100 CT2-02

> Especially suitable for
professions in electrical
engineering

> With Check-Tool insert
for quick check of tool
completeness

Code
2658208

2936836

Code
2690047

No.
1100-02

1100 CT12-02

No.
El-1100-02

Contents oy
Bricklayer’s chisel No. 110-256, 25016 mm 7,67

Electrician’s chisel No. 112-2510, square 250x10x7 mm
Engineer’s hammer No. 600 H-500, 500 g

Adjustable open-end wrench No. 60 CP 8, 8"

Universal Pliers No. 142 10 JC, 10"

Wire stripper No. 8097, automatic

Multiple Pliers No.8133-180 JC, 180 mm

2C-Handle VDE side cutter No. VDE 8314-160 H, 160 mm
VDE Flat nose pliers No. VDE 8132-200 H, 200 mm

VDE Flat Nose Pliers No. VDE 8132 AB-200 H, angled 200 mm
VDE Wire stripper No. VDE 8098-160 H, 160 mm

VDE cable cutter No. VDE 8094, 200 mm

Universal Cable Knife No. 4528, Blade-L. 50 mm

Electrical insulating tape no. 4629, tape L.10 m

Spatula No. 0175-06, sheet B. 60 mm

Offset screwdriver No. H 42-10, hexagon 1.31.522.534568 10 mm
VDE Screwdriver set No. VDE 2170-2160 PH-077, slot 2.54 5.5 6.5 mm,
crossrecessPHO 12

Voltage Detector Slot No. 4615 3, 220-250 Y, 3mm

Voltage Detector Slot No. VDE 4616.12-1000V, 3 mm

Switch cabinet key ELEKTRO No. 45 E

Wooden folding rule No. 4533-2,2m

+ GEDORE L-BOXX® 136 No. 1100 L

Bricklayer’s chisel No. 110-256, 250x16 mm 3,90
Electrician’s chisel No. 112-2510, square 250x10x7 mm

Locksmith’s hammer No. 600 H-500, 500 g

Adjustable open-end wrench No. 60 CP 8, 8"

Universal pliers No. 142 10 JC, 10"

Stripping pliers No. 8097, Automatic

Multi-purpose pliers No.8133-180 JC, 180 mm

VDE Side cutters No. VDE 8314-160 H, 160 mm

VDE Flat round nose pliers No. VDE 8132-200 H, 200 mm

VDE Flat round nose pliers No. VDE 8132 AB-200 H, angled 200 mm
VDE Wire strippers No. VDE 8098-160 H, 160 mm

VDE Cable cutter No. VDE 8094, 200 mm

Universal cable knife No. 4528, blade-L. 50 mm

electrical insulation tape No. 4629, tape-L.10 m

spatula No. 0175-06, sheet-B. 60 mm

Designation Show

Foam insert 2/2 L-BOXX 136, empty 0,20




Mobile Tool Storage

|1,\} g& LciiT\ON > Especially sitable for Code Ne. Contents Sioe
tool assortment in professions in sanitary, 2658216  1100-03 Open-end wrench with ring ratchet No. 7 R, 10 13 17 19 24 mm 12,10
GEDORE L-BOXX® 136, heating and air conditio- High-performance three-point pipe wrench ECK-SCHWEDE-snap No. 100 1.1/2,1.1/2"
44 pieces ning technology Universal Pliers No. 142 10TL, 10"

> With Check-Tool insert Fitting wrench No. 322000, 275 mm

Pipe cutter No. 232001, @ 4-32 mm
completeness Pipe cutter No. 225011, stainless steel @ 6-35 mm
> With 2 stacked Check- Miniature pipe cutter MINI-QUICK No. 231000, @ 4-16 mm
. Cock block wrench set No. 381000 with extension 1/2" No. 1990-5

Tool inserts Combination Step Wrench No. 380100, with 5 graduations 3/8"-1"
Engineer’s hammer ROTBAND-PLUS No. 600 H-500 with hickory handle, 500 g
Bricklayer’s chisel No. 110-256, 250x16 mm
Offset screwdriver No. SCL 43 TX-80,T9T10T15T20 T25 T30 T40
Voltage Detector Slot No. VDE 4615.12-1000V, 3 mm
Multi fitting key No. 45
Offset screwdriver No. H 42-10, hexagon 1.31.522.534568 10 mm
Stand tap wrench No. 316500, 260 mm
Wooden folding rule No. 4533-2,2m
VDE Screwdriver No. VDE 2170 slot 2.54 5.5 6.5 mm
VDE Screwdriver No. VDE 2160 cross recess PHO0 12

for quick check of tool

2940590  1100(T2-03-100B 7R1013171924 5,03
1001.1/2
14210TL

1100L 322000

232001

225011

231000

381000

380100

2940604 1100 (T2-03-600D 600 H-500 3n
110-256
SCL43TX-80
VDE 4616
45P
H42-10
316500

Code No. Designation Sio®

1100 CT2-03-600 D
2689979  EI-1100-03-100B  Foam insert 2/2 L-BOXX 136, bottom, empty 0,10

2690039  EI-1100-03-600D  Foam insert 2/2 L-BOXX 136, lid, empty 0,20

1100-BASIC
CTARTER Tool Kit > Basic equipment for all Code No. Contents T

in L-BOXX® 136, trades 2835983 1100-BASIC  L-BOXX® 136 No. 11001 6,10
23 pieces > With Check-Tool insert + Assortment No. S 1100 W-001
for quick check of tool + Assortment No. 1100 CT2-BASIC

completeness 2835967 1100CT2-  Open-end wrench with ring ratchet No. 7R, 101213 141516 17 18 19 mm 2,40
BASIC Universal cable knife No. 4528, blade-L. 50 mm
wood link scale No. 4533-2, 2 m
Hobby saw No.406, blade-L. 145 mm
flat chisel No. 95-200, 200x23x13 mm
engineer’shammer No. 600 H-500, 500 g

Code No. Designation Sae
2835975  EI-1100CT2-  Foaminsert 2/2 L-BOXX 136, empty 0,20
BASIC

1100L

1100 CT2-BASIC

034



Mobile Tool Storage

1100-1.04

; Code No. Contents Sige
Universal puller set > With 2-and 3-arm ’
in L-BOXX® 136 (ross-beam 2838362  1100-1.04  Universal puller HIGH POWER No. 1.04/HP1A-B, 2-arm, 130x100 mm 6,30
13 pieces > With rigid and slim legs (ross-beam No. 107/1A03, 3-arm 180 mm
and extensions Pulling leg No. 106/A-100-B, all-steel, leg brake 100 mm
> Extra slim Pulling hooks 3x extension No. 106/A-100-VB with leg brake 100 mm
for narrow installation 3x pulling leg No. 106/A-100-S, slim 100 mm
: 3x pulling leg No. 106/5101-S, without clamping part
spaces are included for
szlf-installation Spindle No. 1.1406200, 17 M14x1,5 200 mm
X + GEDORE L-BOXX® 136 No. 1100 L
> 12 different pullers can
be combined 2836068 1100 (T2- Universal puller HIGH POWER No. 1.04/HP1A-B, 2-arm, 130x100 mm 4,10
1.04 Cross-beam No. 107/1A03, 3-arm 180 mm
Pulling leg No. 106/A-100-B, all-steel, leg brake 100 mm
3x extension No. 106/A-100-VB with leg brake 100 mm
3x pulling leg No. 106/A-100-S, slim 100 mm
3x pulling leg No. 106/5101-S, without clamping part
Spindle No. 1.1406200, 17 M14x1,5 200 mm
Code No. Designation oy
2836076  EI-1100 Foam insert 2/2 L-BOXX 136, empty 0,20
(12-1.04
11001
1100 (T2-1.04
1100-1.04/12A
buller assortment > Max. capacity3and 5t Code No. Contents T
inside/outside > For clamping widths up 2927241 1100- Universal puller No. 1x 1.04/1A, 2-arm 130x100 mm 9,60
in L-BOXX® 136 to @ 200 mm external, 1.04/12A Universal puller No. 1.04/2A 2-arm 200x150 mm
@ 70-260 mm internal, Extension with hook brake no. 106/A-100-VB, 100 mm
and clamping depths Extension with hook brake No. 106/B-150-VB, 150 mm
up to 300 mm Spindle No. 1.1406200, 17, M14x1,5 200 mm
: ; Spindle No. 1.2106350KS, 22, G 1/2", 350 mm, with ball point
> Quick release hook with
Q . + GEDORE L-BOXX® 136 No. 1100 L
self-supporting T-profile
for better power trans- 2927268 1100 (T2- Universal puller No. 1x 1.04/1A, 2-arm 130x100 mm 7,40
mission 1.04/12A Universal puller No. 1.04/2A 2-arm 200x150 mm
> 2 steel extensions each Extension with hook brake no. 106/A-100-VB, 100 mm
100 and 150 mm with Extension with hook brake No. 106/B-150-VB, 150 mm
. Spindle No. 1.1406200, 17 M14x1,5 200 mm
(o Bl g Spindle No. 1.2106350KS, 22, G 1/2", 350 mm, with ball point
adjustment of the legs
Code No. Designation Sie
2927276  EI-1100CT2-  Foaminsert 2/2 L-BOXX 136, empty 0,20
1.04/12A

1100 (T2-1.04/12A

WWWW.GEDORE.COM

035



Mobile Tool Storage

1100-1.41/2A p

Separator and > For clamping widths o, Contents e
puller set from @22 to 115 mm 2927284  1100-1.41/2A  Separator puller No. 1x 1.38/2, 70-215 mm 11,50
in L-BOXX®136 and clamping depths Separator No. 1.40/2, 22-115 mm
up to 295 mm Set of threaded inserts No. 1.81/20, for 1and
> Indl. thread adaptor 2-hole applications, M14x1.5
for internal threads 2x extension No. 1.38/CV M14x1.5
M8-M18 + GEDORE L-BOXX® 136 No. 1100 L
> Forloosening and 2927292 1100 (T2- Separator puller No. 1x 1.38/2, 70-215 mm 7,90
removing tightly-seated 1.41/2A Separator No. 1.40/2,22-115 mm
parts e.g. taper roller Set of threaded inserts No. 1.81/20, for 1and
bearings and inner 2-hole applications, M14x1.5
bearing races 2x extension No. 1.38/CV M14x1.5
Code No. Designation Sioe
2927306  EI-1100CT2-  Foaminsert 2/2 L-BOXX 136, empty 0,20
1.4172A
1100 (T2-1.41/2A
Ilnltgrcr)wol\.gx?roctor set > Forinner diameter Code o Contents e
in L-BOXX® 136, 12-35mm 2836041  1100-1.30 Internal extractor No. 1.30/2.12-15 mm 7,20
8-pieces > For extremely- Internal extractor No. 1.30/3.15-19 mm
tightly-packed ball Internal extractor No. 1.30/4.19-25 mm
bearings, bearing races, Internal extractor No. 1.30/4A, 25-30 mm
bushings, and shaft Internal extractor No. 1.30/45, 30-35 mm
seals Simmering® Counter support No. 1.36/1 for 1.30/0 - 1.30/5
> With slide hammer and Sliding hammer No. 1.35/2, 500 mm, 1.7 kg
+ GEDORE L-BOXX® 136 No. 1100 L
counter support
2836025 1100 (T2- Internal extractor No. 1.30/2,12-15 mm 5,00
130 Internal extractor No. 1.30/3,15-19 mm
Internal extractor No. 1.30/4,19-25 mm
Internal extractor No. 1.30/4A, 25-30 mm
Internal extractor No. 1.30/45, 30-35 mm
Counter support No. 1.36/1 for 1.30/0 - 1.30/5
Sliding hammer No. 1.35/2, 500 mm, 1.7 kg
Code No. Designation Se
2836033  EI-1100 Foam insert 2/2 L-BOXX 136, empty 0,20
(12-1.30

1100L

1100 (T2-1.30

036



Mobile Tool Storage

1100 CT1-7

it Code No. Contents 5o
ombination
spanner set 2835908  1100(T1-7  Combination spannerNo.7,8 101213141516 17 18 1922 24 mm 1,50
in1/2 L-BOXX®
136 module, 12 pieces
Code No. Designation 5o
2835924  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,10
-7
éloftc-r:tl_%/%" m GQ'/JE Code No. Contents Sioe
ocket se
in1/2 L-BOXX® 136 2836009  1100CT1-19  1/2" socket No. 19, 2,80
module, 21 pieces 8910111213141516171819212224273032 mm
1/2" reversible ratchet No. 1993 U-20
1/2" universal extension No. 1990 KR-5 -10, 125 250 mm
0000000
g ? 2 ? 3 O Code No. Designation BT
© 0 Q Twe—
e 2836017  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,09
(O (11-19
éloftCTi_SS m O @ Code No. Contents iy
ocket se
in 1/2 L-BOXX® 136 Y X RORS, 2835886 1100CT1-20  1/4" socketNo.20,4555678910111213 mm 0386
module, 44 pieces 1/4" reversible ratchet 2093 U-20
@ @ 1/4" extension No. 2090-4, 97 mm
1/4" bit holder No. 699
Bit adapter No. 620, 1/4" hex x 1/4" square
50000000000 > For universal use with 1/4" multi-handle No. 676
sockets and bits 1/4" screwdriver bit slotted No.680, 44.5 5.5 6.5 8 mm
1/4" screwdriver bit hex No. 685,34 56 8 10 mm
1/4" screwdriver bit cross-slotted No.690, PH 123
1/4" screwdriver bit cross-slotted No. 690, PZ 123
1/4" screwdriver bit TX No. 687, T6 T7 T8 T9T10 T15T20 725727 T30 T40
Code No. Designation sy
2835894  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,16
(11-20
%::;00‘ C-I;]'_BSO Code No. Contents 5
isel se
in1/2 L-BOXXx® 2835932 1100 (T1-350 Percussion tool set No. 106, 6 pcs. 2,30
136 module, S pieces electric chisel No. 112-2508, 250x8x6 mm
> Club hammer bricklayer’s chisel No. 110-256, 250x16 mm
ROTBAND-PLUS for hammer No. 620 E-1000, 1000 g
powerful blows
Code No. Designation S
2835959  EI-1100 Foam insert 1/2 L-BOXX 136, empty 0,10
(T1-350

037



Mobile Tool Storage

1101-7-7R

oo Code No. Contents S
ombination
spanner set 2836114 1101-7-7R ~ 7R10131719 29
A ® ; 768111214151618212224
NFBOXX® /. 15 pieces y proquently used spanner F101L
B B widths as practical
e — ratchet
> In GEDORE i-BOXX® 72
No. 1101 L
> Dimensions: W 367 x
D316xH72 mm
:élokl_tD 231/4” m Yy @‘75 @ Code No. Contents S5%
ocket se
in I BOXX® 72 @ @ @ 9 2836165  1101-D20  1/4"socketNo.20,44.5555678mm 2,00
58 pieces 1/4" reversible ratchet 2093 U-20
@ @ @ @ 1/4" extension No. 2090-2 -4, 55 97 mm
1/4" universal joint No. 2095
Bit adaptor No. 620, 1/4" hex x 1/4" square
L v > For universal use with 1/4" multi-handle No. 676
ﬁ] sockets and bits Adaptgr No.6736.3, 1/4" hexx 1/4" square
> In GEDORE i-BOXX® 72 1/4" bit holder No. 699, hex
20002003009 No. 1101 L 1/4" screwdriver bit slotted No.680, 4 5.5 6.5 8 mm
o 1/4" screwdriver bit hex No. 685,34 56 8 10 mm
> ; !
g';%"s'fl';sz W3 1/4" screwdriver bit XZN No. 685 X, M5 M6 M8
X i 1/4" screwdriver bit cross-slotted No.690, PH 12 3
1/4" screwdriver bit cross-slotted No. 690, PZ 123
1/4" screwdriver bit TX No. 687, T6 T7 T8 T9T10 T15T20 25727 T30 T40
1/4" screwdriver bit TX with hole No. 688 T10 T15T20T25T27 T30 T40
+ Inset box No. E-1101 BT, with two partitions
+ GEDORE L-BOXX® 136 No. 1100 L
210&-19 " m 73 Code No. Contents opS
ocket set !
in i-BOXX® 72, 2836084 1101-19 1/2" socket No. 19, 4,05
21 pleces o 8910111213 14151617 1819212224273032 mm
> In GEDORE i-BOXX® 72 1/2" reversible ratchet No. 1993 U-20
No. 11071 1/2" universal extension No. 1990 KR-5 -10, 125 250 mm
> Dimensions: W 367 x
D316xH72 mm

00000000

000000

1101-142-2150
Pliers and screwdriver
assortment

in i-BOXX® 72, 9 pieces

038

6 @ = el (ode No.

2836149  1101-142-
2150
> In GEDORE i-BOXX® 72
No. 1101 L
> Dimensions: W 367 x
D316xH72 mm

Contents 5o
3C-Screwdriver slot No. 2150, 4 5.5 6.5 mm 1,90

3C-Screwdriver Cross-recess No. 2160 PH 12

Voltage Detector Slot No. 4615 3, 220-250V, 3mm
Multiple Pliers No.8133-180 JC, 180 mm 2C handle
Power side cutter No. 8316-160 JC, 160 mm 2C handle
Universal Pliers No. 142 10TL, 10"



Mobile Tool Storage

é}jﬁtgﬁ% 1K > Ball bearing extractor Code No. for ball bearingNo. ~ Contents Sioe
extractor set set for over 30 ball 2963485 1101-  6000600160026003 129/104 Head 261
in i-BOXX® 72 bearings 1.29/1K 6005 6006 6007 6008 129.106 Spindle 14, M10x1.5, 160 mm
> For removing ball 6009 601060116012  129/304 Head
- bearings that are both 6200 620162026203 129306 Spindle 17, M14x2.0, 210 mm
onashaftandin a 6204 6205 6206 6207 129/10 Pulling leg 1 pc. 140 mim (4)
housing 6300630163026303 129/15 Pulling leg T pc. 140 mm (4x)
S s e 630463056306 6307  129/25 Pulling leg T pc. 170 mm (4x)
6403 6404 129/30 Pulling leg 1 pc. 1778mm with 3 Spacers (4x)
ofdgep—grqove ball 129/35 Pulling leg 1 pc. 1778mm with 5 Spacers (4x)
bearings without 1.29/0 Handle burnished
dismantling the shaft; EI-1101 CT-1.29/3K Foam insert i-BOXX 72, empty
no drilling of the be- 1101 L GEDORE i-BOXX 72 empty
aring cage necessary 2964414 1101CT- 6000600160026003 129/104 Head 175
(chip free) 129/ 60056006 6007 6008  129.106 Spindle 14, M10x1.5, 160 mm
6009 601060116012 129/304 Head
620062016202 6203  129.306 Spindle 17, M14x2.0, 210 mm
6204 6205 6206 6207  129/10 Pulling leg T pc. 140 mm (4x)
6300630163026303 129/15 Pulling leg T pc. 140 mm (4x)
630463056306 6307  129/25 Pulling leg T pc. 170 mm (4x)
6403 6404 129/30 Pulling leg 1 pc. 178mm with 3 spacers (4x)
129/35 Pulling leg 1 pc. 178mm with 5 spacers (4x)
1.29/0 Handle burnished
EI-1101 (T-1.29/3K Foam insert i-BOXX 72, empty
Code No. Designation Sige
2964449  EI-1101(T-1.29/3K  Foam insert i-BOXX 72, empty 0,11
éﬁ?i:ﬁi}é 3K > Ball bearing extractor Code No. for ball bearing No.  Contents Sie
extractor set set for over 40 ball 2964392 1101-  6000600160026003 129/104 Head 5,78
in i-BOXX® 72 bearings 1.29/3K 6004 6005 6006 6007 129.106 Spindle 14, M10x1.5, 160 mm
> For removing ball 6008 600960106011  129/304 Head
bearings that are both 60126200 62016202 129306 Spindle 17, M14x2.0, 210 mm
onashaftandina 6203 6204 62056206  129/404 Hgad
housing 6207 6208 62096210  129.406 Spindle 19, M18x2.5, 230 mm
S R el 6211621262136300 129/504 Head
630163026303 6304 129.506 Spindle 22, M20x2.5, 235 mm
of deep-groove ball 630563066307 6308 129/10 Pulling leg T pc. 140 mm (4x)
bearings without dis- 6309631063116403 129/15 Pulling leg 1 pc. 140 mm (4x)
mantling the shaft; no 6404 6405 6406 6407  129/25 Pulling leg 1pc. 170 mm (4x)
drilling of the bearing 129/30 Pulling leg 1 pc. 178mm with 3 spacers (4x)
cage necessary 129/35 Pulling leg 1 pc. 178mm with 5 spacers (4x)
(chip free) 129/40 Pulling leg 1 pc. 226mm with 5 spacers (4x)
129/45 Pulling leg 1 pc. 226mm with 11 spacers (4x)
1.29/0 Handle burnished
EI-1101 CT-1.29/3K Foam insert i-BOXX 72, empty
1101 L GEDORE i-BOXX 72 empty
2964430  1101(CT- 6000600160026003 129/104 Head 6,20
1.29/3K 6004 6005 6006 6007 129.106 Spindle 14, M10x1.5, 160 mm
6008 600960106011 129/304 Head
6012620062016202 129.306 Spindle 17, M14x2.0, 210 mm
6203 6204 62056206  129/404 Head
6207 620862096210  129.406 Spindle 19, M18x2.5, 230 mm
6211621262136300 129/504 Head
630163026303 6304 129.506 Spindle 22, M20x2.5, 235 mm
6305 6306 6307 6308  129/10 Pulling leg 1 pc. 140 mm (4x)
6309 631063116403  129/15 Pulling leg 1 pc. 140 mm (4x)
6404 6405 6406 6407  129/25 Pulling leg 1 pc. 170 mm (4x)
129/30 Pulling leg 1 pc. 178mm with 3 spacers (4x)
129/35 Pulling leg 1 pc. 178mm with 5 spacers (4x)
129/40 Pulling leg 1 pc. 226mm with 5 spacers (4x)
129/45 Pulling leg 1 pc. 226mm with 11 spacers (4x)
1.29/0 Handle burnished
EI-1101 (T-1.29/3K Foam insert i-BOXX 72, empty
Code No. Designation Sioe
2964449  EI-1101(T-1.29/3K  Foam insert i-BOXX 72, empty 0,11

039



Mobile Tool Storage

- a
%g%;’!ﬂ?ﬁ%h oliers/ 6 @ w B (e No. Contents Contents Sie
screwdriver assortment 2836181 1100 Multiple Pliers No. 8133-180 JC, 180 mm 2C-Handle Assortment 1,80
9 pieces > To retrofit existin W-001  Power side cutters No. 8316-180 JC, 180 mm 2C-Handle No. S 1100 W-001
9 Universal Pliers No. 142 10TL, 10" + Tool card
L-BOXX®es 136 3C-Screwdriver slot No. 2150, 45.5 6.5 mm No. ET-1100W
3C-Screwdriver Cross-recess No. 2160 PH 12
Voltage Detector Slot No. 4615, 3 mm
+ tool card No. ET-1100 W
2836211  S1100  Multiple Pliers No. 8133-180 JC, 180 mm 2C-Handle Assortment without 1,10
W-001  Power side cutters No. 8316-180 JC, 180 mm 2(-Handle tool card
Universal Pliers No. 142 10 TL, 10"
3C-Screwdriver slot No. 2150, 4 5.5 6.5 mm
3C-Screwdriver Cross-recess No. 2160 PH 12
Voltage Detector Slot No. 4615, 3 mm
1100 W'OQB VDE 6 @ @ = Code No. Contents Contents oy
Tool board with VDE
oliers/screwdriver [ Ntooov 2836203 1100 VDE side cutter No. VDE 8314-160 H, 160 mm Range 152
assortment W-002  VDEFlat nose pliers No. VDE 8132-160 H, 160 mm No. S 1100 W-002 VDE
9 pieces VDE VDE Screwdriver slot No. VDE 2170, 2.53.55.5mm + Tool card
> Toretrofit existing VDE Screwdriver Cross-recess No. VDE 2160 PH 12 No. ET-1100 W
L-BOXX®s 136 VDE Screwdriver cross recess No. VDE 2160 PZ 12
+Tool card No. ET-1100
QEW g 2836238  S1100  VDEside cutter No. VDE 8314-160 H, 160 mm Assortment without 0,80
‘ RRRRRRA R W-002  VDE Flat nose pliers No. VDE 8132-160 H, 160 mm tool card
YW Vi VDE VDE Screwdriver slot No. VDE 2170, 2.53.5 5.5 mm
VDE Screwdriver Cross-recess No. VDE 2160 PH 12
VDE Screwdriver cross recess No. VDE 2160 PZ 12
ET-1100 W > Retrofittable for any L-BOXX® > Mounting material for L-BOXX® 136 is included
Lid tool board > Rubber straps and pockets for inserting tools
empty
Code W D Sig®
2678322  ET-1100W 380 25 0,40
1100 L ) R ‘ > Made of impact and shock resistant ABS plastic > Forintegration in vehicles with Sortimo®
GEDORE L-BOXX® 136 with easy carry handle > Top and front handle for variable transport of the vehicle equipment
L-BOXX®
> With tool board for order and
more storage space
Code W D Sig®
2823691  1100L 442 357 2,20

040



Mobile Tool Storage

1100R
GEDORE L-BOXX® Roller

> Practical, mobile trolley for all L-BOXX® types
> 4steerable wheels, 2 of which have brakes

Code No. W D
2823756  1100R 646 492

> Loadable up to 100 kg

H Sige
184 4,40

1101L
GEDORE -BOXX® 72

> Small parts case with transparent lid for
quick viewing
> Optional inset boxes i3 for an individual sorting

Code No. W D
2823705  1101L 367 316

> Suitable for i-BOXX® Rack aktiv No. 1101 K

H Sive
72 0,90

E-1101 BT
GEDORE Insetbox i3

> For GEDORE i-BOXX® 72 No. 1101 L
> As storage for small parts

Code No. W D
2840006 E-1101BT 262 77

> Further subdivision possible with 2 partitions

H Sige
62 0,10

1102 L
GEDORE L-BOXX® Mini

> Compatible with the GEDORE BOXX®en system
> Especially suitable for small tools

Code No. W D
2950529  1102L 260 155

> Also usable as small parts box,
incl. divider set

H Sie
62 0,36

WWWW.GEDORE.COM

041



TOOL ASSORTMENTS
AND TOOL MODULES

This has not only been an issue since 5S: Safe and organised storage of tools is increasingly important.
GEDORE has perfected Workshop That .|s why GEDORE has developed the module system:

L L Tool inserts made of ES synthetic or CT foam, adapted to the
organisation and storage with its tool drawer sizes of GEDORE tool trolleys and the compartments
ranges and modules. of toolboxes and chests.

The areas of application in which the GEDORE tool range The multitude of different module variants offer the possibility

is used are just as varied as its range. To ensure that of equipping tool trolleys and rolling workbenches as desired
workers at every workplace has the optimally adapted and thus assembling the exact arrangement of tools for the
set and the greatest flexibility in selecting the tools they tasks at hand. The large selection of pre-configured modules
need, GEDORE offers tool sets tailored to motor vehicles, creates countless combination possibilities.

commercial vehicles, plumbing, electrical installations or
universal use.

ﬂ CLEVER SOLUTIONS

Ideally suited for GEDORE tool trolleys and rolling
workbenches with variable drawer arrangement

042



EVERYTHING SAFELY STOWED AWAY

* (learly arranged storage

o Safe transport ‘ e A - '
Vs cmtineion pr "
P =K
- o =
ﬂ‘ﬂ / 7/ . -/ ’ £ &1 :
: / / /

VERSATILE / {

CLEARLVARRANGED

ES-PLASTIC MODULES

e Made of impact-resistant ABS plastic

e Oil and acid resistant

e The tool lies perfectly in position and is protected from damage
* Recessed grips make it easier to take out the tool

CT-FOAM MODULES

o Simple visual check due to 2-coloured foam inserts

« Particularly suitable for work in sensitive areas where
it must be ensured that no tools are left behind.

« Bottom layer blue, top layer black.
The colour blue shows missing tools

o (learly visible tool contours make it easier to to put
the tool back into the right nest

e The tool lies perfectly in place and is protected
from damage

* Recessed grips make it easier to remove the tool

e Resistant to oils and greases

* Easy to clean with water and soap



Tool Assortments

1041-002
PROFI-tool assortment in case
100 pieces

Code No. Contents

@@ o~

> Professional set for all trades
> Inasturdy hard-shell case made of
impact-resistant ABS plastic

3082148  1041-002 100 piece tool assortment PROFI + case WK 1041 L

1B81013171922

666-U-20

8245-180JC

044

1990-5

H42-10

FW—

247H30

215034556,58

=

8096 140

14210TL, 10"

—P

60P8,8"

> Sturdy aluminium frame

) i BB
1993 U-20 VH19

o e et

)| YJ—

0513-09
b . ] P ~)
2160PH012 2160PZ12
T A._f:s)»- L s
r R " o
8098-160JC 8133-200JC

Sie
12,9



Tool Assortments

1041-001 o
Tool assortment BASIC in case > Basicequipment for all trades
74 pieces > Inasturdy hard-shell case made of

impact-resistant ABS plastic

> Robust aluminium frame

Code No. Contents S5®
3082121  1041-001 74 piece tool assortment BASIC + case WK 1041 L 10,6
= —
m———0 Sl Dpm— P, ~) P <)
71013171922 666-U-20 PH42-88 2253456810 60P8 21503455658 2160PH0 12
T f
F s D e } T = L
W — — ~ ==,
247H30 710 45343 46153 8098-160JC 8133-200JC
M e o S ﬁ;—— -
= S N — = - T
8250-180JC 8316-160JC 14210TL, 10" 106 0513195 644
1000 m 1y O mm
Tool case TOURING
49 pieces .
> The perfect tool assortment > GEDORE vanadium tools, chrome-plated
> Inahandy plastic case > Dimensions: W 437 x D 397 x H 160 mm
e
hn
Code No. Contents S
6600780 1000 49 piece tool assortment TOURING + case WK 1000 L 7
. E =)
S S = e il
767810111213 14 191011121314 1990-5-10 1995 1993 U-20 PH 42-88 2 (5/64AF)
151719 15171922 253456810
— - #
= L
P ~) L. ] — - [/ o — |
215045,56,5 2160PH 12 46153 0513-09 14210TL, 10" 8316-160 JC
— "‘. .: —
8133-180JC 600 H-300

045



Tool Assortments

1090
Tool case ELECTRICIAN
87 pieces

Code No.
6601590 1090

==
6 14x1718x19 21x23
22x24

69012
690PZD 123

2090-4

VDE21723,5 45,5 6,5

r<_——

14210TL, 10"

¥.._f-

600 H-300

Contents

Fpmm—

84455556789
10111213

-1

620

| > ot

2093 U-10

—
T
VDE 4616

s
L

VDE 8098 -160

B[ o™

> The perfect tool set for the electrician

or property manager

> Inarobust hard-shell case made of
impact-resistant ABS plastic

87 piece tool assortment 1090 + case WK 1018 L

==

D2045678910111213

H42-10131,522,5345
6810

VDE 8250-180H

68046,5

676

QT._—L RS
=

~ 3

18310TC, 10"

4528

VDE8131AB-200H

WWW.GIEDORIE.COM

> GEDORE vanadium tools, chrome-plated
> Dimensions: W 480 x D 370 x H 180 mm

68534568
685X568

699

VDE2162PZ12

e

45343

&5 g

VDE 8316 -200H

046

e
13,155

687 TXT10T15T20T25T27
130740

VDE2162PH 12

95-175



Tool Assortments

1091
Electricians tool case > Robust tool case with 18-piece assortment
18 pieces > Especially suitable for apprentices in electrical

professions
> Anti-Theft protection by 2 lockable latches,
delivery includes 2 keys

> Inside dimensions: 430 x 200 x 290 mm

Code No. Contents Sie
1953710 1091 18 piece tool assortment Electro + case WK 1091 L 8,25
TR TR — -
VDE 21337810 VDE2160PH 123 VDE2170345,5 4528 4533-2 VDE 4616
-~ — — o
e::j'eﬁ“’_ = "ia.,"-‘. &5 —
\.._" h S @ = 5 !_3 ST
4629 8097 VDE 8132-160H VDE 8250-180H VDE 8316-180H E-1091ST
51072-001 ) ) ) - )
Tool bag with tool assortment > With carrying handle and carying strfap > Additional 7 internal stretch tape holders
29 pieces > 17 open compartments, 1 of which with
Velcro fastener
‘ S —
[ o
» 2000
e
L a
[ =2
=
=
==
Code No. Contents s
3100448  $1072-001 29 piece tool assortment + tool bag WK 1072 L 59
Yr—( . e PR ) LR~
71013141719 D191013141719 1990 125 1993 U-20 2150558 2160PH 12
4222534568 14212TL, 12" 4615-3 220-250V 4534-3 8250-180 TL 95-150
a P '
4E-300

047



Tool Assortments

51400G
Universal tool assortment
100 pieces

[y Y
—

—

o

B @

> Tools in metric sizes

> Supplied in tool modules 1500 ES, suitable for fit in
5 drawers of the GEDORE tool trolleys (e.g. workster)
and workbenches

> Also available in tool cabinet or on tool boards

RiCIr
Tt [l 1
Code No. Contents apis
6612790  S1400G 100 piece tool assortment Universal 17,7
6613250 1400 G 100 piece tool assortment Universal + cabinet 1400 L 46,7

N—— J m =
= .-
B —=m : .
H42-101,31,52 (5/64AF) 1500 ES-2 1500 ES-6 1500 ES-19 1500 ES-145 1500 ES-350 1500 ES-1993 T
253456810
- & U i 3

1500 ES-2133 1500 ES-2150 PH 60CP8 13710 600 E-500 406 403

———— e—?h h p=—==—— s D —fiEs s

132-150 424026 225E-40 8701 2-6 8719 2-6 87222-6 8728 1500 E-N L (3x)
51151 1/ 4

2

Tool assortment m

57 pieces . . o

> For workshops and service workstations > Also available in tool box or on tool boards

00000 & My 4 > Tools in metric sizes

ey o

A(ﬁ.\va.‘}“ _Jr ' l Y

= Lo "“EZ(%

bl =
[-==—9
— {
o 000000000000
Code No. Contents LoprsS
6607010  S1151 57 tools in metric sizes 98
6610660  1151-1335 57 tools in metric dimensions 18,5
+ tool box 1335 L

- e, =" P— =
28x910x1112x13 6 6x7 8x9 10x1112x13 191011121314151719 1993 U-10T 1987 1990-3-5-10

14x15 16x17 18x19 20x22 14x15 16x17 18x19 20x22 2224273032

.y i = T
- ‘ ﬁ = S,
1995 3816[2x] 422534568 50 13710 14510C
P < P . ~) W T i —
215046,58 2160 PH 2 299 8250-180JC 8316-160JC
I I .
100-12 9910-4 97-150 600 H-500

048




Tool Assortments

51007
Mechanic's tool assortment
179 pieces

NN Y

ML

oo ey |ﬂﬂﬂﬂﬂMM|

:;: "f \‘

T l!lﬂ]

"

Code No. Contents

6601080  S1007 179 piece tool assortment mechanic

— Y=
2 6x7 8x9 10x11 12x13 6 6x7 8x9 10x11 12x13
14x15 16x17 18x19 20x22 14x15 16x17 18x19 20x22
21x23 24x27 25x28 30%32 21x23 24x27 25x28 30%32
1987, 2087 1990-5-10,2090 -4
AR e s : PN
60CP8 298-04

P~ P
215034556,5810 21536,5

2161PH 12 1751172
100-10 9910-312-5

o rF- N
404 407
- —
K 1900-018 0513-09
:—*Dﬁ-’
A == “
8000J11,J21 8250-180JC
— o e PR
87222-8 87252-8
—
8722

Q6006 O D

> A complete professional tool assortment
> Suitable for mounting in GEDORE tool trolley

No. WSL-L7 (workster)

204455556789
101113

1995, 2095

13710

—

156

F’

248 ST-40

97-125-150-200

—

640-1800

e

4534-3

e

8132-160JC

8728

0

19810111213141516
171819212223 2426 27
283032

IN195678910121417

140

— il

2160PH 123

8000 A1, A2

'——\:JIL-.
~
8132 AB-160JC

@:/»
==

8367-160JC

> Tools in metric sizes

e ———
2093-U3

20E

14310C

2160PZ12

— . T
132-200

e

119-2-3-4-5-6-8

745

8000 A11, A21
s
==

8316-160JC

855112345678

Sioe
27,51

= —
1993 U-10T

PH 42-88 2 (5/64AF)
253456810

139-400

i

424026

KB 819, KB 820

A

8000J1,J2

l

87192-8

|

87012-8

049



Tool Assortments

S1151A @ ] O~F
Tool assortment INCH
57 pieces
> For workshops and service stations
f ’[ e > Tools in inch sizes
‘ I > Also available in tool box

P 8
Code No. Contents S
6607280 S1151A 57 Tools in inch sizes 94
- o s == (el Y w— e o — o=
2 6 D19 1990 1993 U-10T 1995
1/4x5/16AF 5/16x3/8AF 1/4x5/16AF 5/16x3/8AF 5/16AF 3/8AF 7/16AF -3-5-10
3/8x7/16AF 7/16x1/2AF 7/16x1/2AF 9/16x5/8AF 1/2AF 9/16AF 5/8AF 11/16AF
9/16x5/8AF 19/32x11/16AF 19/32x11/16AF 3/4x25/32AF 3/4AF 7/8AF 15/16AF 1AF
3/4x25/32AF 13/16x7/8AF 13/16x7/8AF 15/16x1AF 1.1/16AF 1.1/4AF
38 1987 42 3/32AF 1/8AF 5/32AF 3/16AF 21504 6,58 21602 50
16 [2x] 7/32AF (5,5MM) 1/4AF
& o e . J—
14510C 299 100-12 99 10-4 97-150
8250-180JC 8316-160JC 86011
51500 ES-O1 m m
Module assortment small
104 pieces ) . .
> General basic assortment for beginners of > Tool modules made of ABS plastic
all professions
> Tools in metric sizes
Code No. Contents S5e
2319845  ST1500ES-01  Combination wrench setin 2/3 ES-module No. 1500 ES-1B 14,02
1/2" set of socket wrench inserts in 1/3 ES-module No. 1500 ES-19, hexagon
1/2" accessories for socket wrench inserts in 1/3 ES module No. 1500 ES-1993 U-20
1/4" socket wrench assortment in 1/3 ES module No. 1500 ES-20
Pliers assortment in 1/3 ES module No. 1500 ES-145
Chisel assortment in 1/3 ES module No. 1500 ES-350
Screwdriver setin 1/3 ES module No. 1500 ES-2150 PH
S — T
r———
R pe— TR,
% —— —
1500 ES-1B 1500 ES-19 1500 ES-1993 U-20 1500 ES-20 1500 ES-145 1500 ES-350 1500 ES-2150 PH

050



Tool Assortments

S 1500 ES-O2 " "
Module assortment middle m m 9 %
207 pieces

> Basic equipment for the commercial sector
or ambitious DIY enthusiast
> Tools in metric sizes

[
w
[
(]
o
w
[

Code No.
2319853 S 1500 ES-02

Contents

Combination spanner set in 2/3 ES module No. 1500 ES-1B

Double open ended spanner set in 1/3 ES module No. 1500 ES-6

1/2" set of socket wrench inserts in 1/3 ES module No. 1500 ES-19 1S

1/2" set screwdriver inserts in 1/3 ES module No. 1500 ES-ITX 19 LKP

1/2" set screwdriver inserts in 1/3 ES module No. 1500 ES-IN 19 LKM

1/2" accessories for socket wrench inserts in 1/3 ES module No. 1500 ES-1993 U-20
1/4" socket wrench assortment in 1/3 ES module No. 1500 ES-20

Socket wrench set in 1/3 ES module No. 1500 ES-2133

Set of open-end wrenches with ring ratchet in 1/3 ES module No. 1500 ES-7 R
Pliers assortment in 1/3 ES module No. 1500 ES-145

Chisel assortment in 1/3 ES module No. 1500 ES-350

Measuring assortment in 1/3 ES module No. 1500 ES-711

Screwdriver setin 1/3 ES module No. 1500 ES-2150 PH 1/2"

Screwdriver assortment in 1/3 ES module No. 1500 ES-K 1900

Set of mounting pliers in 1/3 ES module No. 1500 ES-8000

Distance module empty No.1500 ED-70 K, 475x77x40 mm [6x]

> Tool modules made of ABS plastic

e
283

207 tools in metric dimensions
+ Tool trolley with 8 drawers No. 2004 0620

2657708 1500 ES-02-2004

0000 00000

@ L
Lhad AadRE [TTHTT o8

n7i

1500ES-1B 1500 ES-6 1500 ES-191S 1500 ES-ITX 19 LKP 1500 ES-IN 19 LKM

1500 ES-20

DE —u L L
1500 ES-2133 1500 ES-7R 1500 ES-145 1500 ES-350 1500 ES-711
1500 ES-8000 1500 ED-70 K (6x)

1500 ES-2150 PH

1500 ES-K 1900

WWW.GEEDORIE.COM

051



Tool Assortments

51500 ES-03
Module assortment large
325 pieces

|/ GEDOREWP
+

Code No.
2319861 S 1500 ES-03

Q6DE®OGOD

> Tools in metric sizes

E

Contents

Puller setin 1/3 ES tool module No. 1500 ES-1.07

Combination wrench set in 2/3 ES-module No. 1500 ES-1B
Double-end box wrench set in 1/3 ES module No. 1500 ES-2

1/2" set of socket wrench inserts in 1/3 ES-module No. 1500 ES-191S
1/2" accessories for socket wrench inserts in 1/3 ES module No. 1500 ES-1993 U-20
1/4" socket wrench assortment in 1/3 ES module No. 1500 ES-20

1/4" socket wrench assortment in CT module No. 1500 CTD-20 BIT
Socket wrench set in 1/3 ES module No. 1500 ES-2133

Screwdriver setin 1/3 ES module No. 1500 ES-2150 PH

Screwdriver set in 1/3 ES module No. 1500 ES-2163 TX

Double jointed key set in 1/3 ES module No. 1500 ES-34

Chisel assortment in 1/3 ES module No. 1500 ES-350

Double ended ring wrench set in 1/3 ES module No. 1500 ES-400, open
Double open ended wrench set in 1/3 ES-module No. 1500 ES-6

Set of open-end wrenches with ring ratchet in 1/3 ES-module No. 1500 ES-7 R
Measuring assortment in 1/3 ES module No. 1500 ES-711

Set of mounting pliers in 1/3 ES module No. 1500 ES-8000

Offset screwdriver set in 2/3 ES module No. 1500 ES-DT 2142

1/2" set of screwdriver inserts in 1/3 ES module No. 1500 ES-IN 19 LKM
1/2" set of screwdriver inserts in 1/3 ES module No. 1500 ES-ITX 19 LKP
1/2" screwdriver assortment in 1/3 ES module No.1500 ES-K 1900

VDE pliers assortment in 1/3 ES module, No. 1500 ES-VDE 145

VDE Screwdriver set in 1/3 ES module No. 1500 ES-VDE 2170 PZ

Screw extractor set No. 8551-55, M3-M18

Offset screwdriver set No. H 42 KEL-88, 2 2.53 456 8 10 mm, ball head
Offset screwdriver set No. H 43 KTX-07, TXT10 T15T20 T25 127 T30 40
Warding file set No. 8728 Flat file, triangular, square, half-round, round file
Adjustable open-end wrench No. 60 P 8 10"

Grip Pliers No. 137 10

Voltage Detector No. 4615 3, 220-250V, 3mm

Cable knife No. 0513-09, 195 mm

1/2" fast turntable No. 1940

Distance module empty No.1500 ED-70 K, 475x77x40 mm [7x]

> Extensive industrial range for professionals

> Tool modules made of ABS plastic

38,0

2657716 1500 ES-03-2004

T =

1500 ES-DT 42

8551-55

—rl
46153

052

325 tools in metric dimensions
+ Tool trolley with 9 drawers No. 2004 0810

1500 ES-2133

1500 ES-7R

000000000

\ 1441 haand =
1500 ES-IN 19 LKM 1500 ES-ITX 19 LKP
= ) a\‘
H 42 KEL-88 H 43 KTX-07
B o/
051309 1940

1500 ES-1993 U-20 1500ES 2

1500 ED-70 K (7x)

1258

1500 ES-20 1500 ES-34

1500 ES-350

1500 ES-K 1900

1500 ES-VDE 2170 PZ 1500 £S-1.07
{\F o
60P8 13710



Tool Assortments

TS-147

Tool assortment in > GEDORE Check-Tool- Code fo Contents o
Check-Tool-Modules System: 2-colour foam 2955997  T5-147 1/4"+1/2" socket range in CT module No. TS CT2-D19-D20, 81 pieces 11,98
147 pieces insert to check that the Combination spanner set in CT module No. TS (T2-7, 24 pieces
set is complete Tool assortment in CT module No. TS (T2-2154SK-119, 14 pieces
> Each tool is securely held Pliers range in CT module No. TS CT2-142, 28 pieces
in its own pocket, grip
recesses facilitate
removal of the tools
150‘1 i?ortmem > GEDORE Check-Tool- 2k Contents sie
in Check-Tool-Modules, System: 2-colour foam 2956527  TS-190 1/4"+1/2" socket range in CT module No. TS CT2-D19-D20, 81 pieces 17,08
190 pieces insert to check that the Combination spanner setin CT module No. TS CT2-7, 24 pieces
set is complete Tool assortment in CT module No. TS (T2-2154SK-119, 14 pieces
> Each tool is securely held Pliers range in CT module No. TS CT2-142, 28 pieces
in its own pocket, grip Tool assortment in 2/4 CT module No. TS CT2-6-8000, 15 pieces
recesses facilitate easy 1/2" set screwdriver bits in 2/4 CT module No. TS CT2-ITX19, 28 pieces
removal of the tools
Igc’o ‘3(]2;80 rment > GEDORE Check-Tool- €2k Contents sie
in Check-Tool-Modules, System: 2-colour foam 2956535  TS-308 1/4" +1/2" socket wrench assortment in CT module No. TS CT2-D19-D20, 81 pieces 30,14

308 pieces

v

insert to check that the
setis complete

Each tool is securely held
in its own pocket, grip
recesses facilitate easy
removal of the tools

Combination spanner set in CT module No. TS (T2-7, 24 pieces
Tool assortment in CT module No. TS (T2-2154SK-119, 14 pieces
Pliers assortment in CT module No. TS (T2-142, 28 pieces

Tool assortment in 2/4 CT module No. TS CT2-6-8000, 15 pieces

1/2" set of screwdriver sockets in 2/4 CT module No. TS CT2-ITX19, 28 pieces

Tool assortment in 2/4 CT module No. TS (T2-2133-2163TX, 13 pieces
Wrench set in 2/4 CT module No. TS CT2-7R-2, 28 pieces

Tool assortment in 2/4 CT module No. TS CT2-D30, 59 pieces

Tool assortment in 2/4 CT module No. TS CT2-710, 17 pieces

Hacksaw No. 407

053



Modules

I GEDORE MODULE SYSTEM

Combine according to scheme

The areas of application in which the GEDORE tool range is used are just as varied as its range of tools. The GEDORE modular system was
developed to ensure that every worker at every workplace has the best possible combination and the greatest possible flexibility in selecting
the tools they need.The many different module variants offer the possibility of equipping tool trolleys and rolling workbenches as needed
and thus assembling the exact arrangement of tools for the tasks at hand. The large selection of pre-configured modules offers countless
combination possibilities.

GEDORE also has an ideal solution for special cases and requirements that are not covered by the module range: the iMOD range allows
individual design of the tool modules and precise coordination with your own needs and guarantees perfect tool organisation.

Drawer size with loading grid of the tool trolleys and rolling workbenches

W480xD325mm 1578 1580

A
w
8
a
W
(<]

GEDOREF

&

M J

W 480x D 400 mm WSL-M6 20040511 20040810 1504 1502 1506 XL

L
W 640 x D 400 mm WHL-L7 WSL-L7 20050511 20050810 1504 XL GITB-S-177

LIMITED EDITION

XL
W 480 x D 550 mm 1505 B 1500 L
Partial extract D 505 mm

XXL1 XXLe
W 1055 x D 400 mm 1504 XL W 998xD 474 mm 1507 XL

054



Basic grid

— 1055mm ——
— 998mm ——
— 640mm —

~80mm—

The drawer sizes and module variants are shown
using a common basic grid.

The respective drawers (blue) can be individually
combined with the tool and distance modules
(coloured) according to the grid.

Modules

Module variants for individual assembly

1/3 MODULE
ES+(CT1IMODULE
W157,5xD310mm

2/4 MODULE
2005 + CTe MODULE

W 316,5xD 390 mm

4/4 MODULE
2005+ CT4 MODULE

W633xD 390 mm

1/3 MODULE DISTANCE MODULE
W 152xD 77 mm

70 XL DISTANCE MODULE
W625x D77mm

2/3 MODULE
ES+(CTe MODULE

W315xD310mm

3/4 MODULE
2005+ CT3 MODULE

W 472,5xD 390 mm

— I -—

70/70K MODULE
W475xD 77 mm

150 K DISTANCE MODULE
W 480xD 150 mm

230 CT DISTANCE MODULE
W475x D230mm

055



Modules

1500ES-1B

e -:| @u@h @ Code No. Contents %
Combination
Spanner set 6612280 1500ES-1B  1B678910111213141516171819202122 279
in 2/3 ES-Module > Made of impact- PH42-88(22,53456810)
resistant ABS plastic,
black grained
Code No. Sk
frfrm. > 0il and acid resistent N
5620330 1500 E-1B-7L 0,25
1500 ES-2 N ¢
o] ode No. Contents 3o
Double ended ring .:|:| C N
spanner set 6621190  1500ES-2  26x7 8¢9 10x1112x13 14x15 16x17 18x19 20x22 1,616
in1/3 ES-Module > Made ofimpact_
resistant ABS plastic
. ' ] ignati apiS
o ——— " J black grained Code No. Designation 23
> 0il and acid resistent 5626290  1500E-2L  ES-Module empty 0,25
1500 E5-400 brive Code No. Contents 550
Double ended ring .:|:| C o ’ ’
Spanner set, open 1731157 1500E5-400 400 8x10 10x1112x14 13x15 17x19 0,824
in1/3 ES-Module > Made of impact-
resistant ABS plastic, o
5 black grained Code No. Designation oy
;0\\%\ > 0il and acid resistent 1731173 1500E-400L  ES-Module empty 0,12
SLERCRC AN
1500E5-6 .:I] Code No. Contents iy
Double open ended
Spanner set 6621000 1500ES-6  66x78x910x1112x13 14x15 16x17 18x19 20x22 21x23 24x27 1,702
in1/3 ES-Module > Made ofimpa(t-
resistant ABS plastic,
LRI Code No. Designation 5o
black grained
> Oil and acid resistent 5626100 1500 ES-Module empty 0,25
E-6-7RL
1500 ES-7 ThIT
DRIVE Code No. Contents Sig®
Combination -:| C @ ’
spanner set 6612520 1500ES-7  767891011121314151617 1819202122 2232
in2/3 ES-Module > Made of impact- PH42-88(22,53456810)
resistant ABS plastic,
b!ack gralped . Code No. Designation S5®
> 0il and acid resistent
5620330 1500 ES-Module empty 0,25
E-1B-7L
1500 ES-7-32 DRIVE Code No. Contents opS
Combination -:| C ’ !
Spanner set 1761145  1500E5-7-32 72324273032 2,348
in2/3 ES-Module > Made ofimpa(t_
resistant ABS plastic,
. Code No. Designation Sie
black grained
> 0il and acid resistent 1761153 1500E-7-32L ES-Module empty 033

056



Modules

1500ES-7R

s het .:I] @k Code No. Contents %
ombination ratche
spanner set 2305429 1500ES-7R 7R8101213141516171819 15
in1/3 ES-Module > Made of impact-
resistant ABS plastic,
5P Code No. Designation yans
black grained
> 0il and acid resistent 5626100 1500 ES-Module empty 0,25
E-6-7RL
éSOO‘ ES?L' . .:I] Eive Code No. Contents &%
wivel neaa wrenc
double ended set 6605070  1500ES-34  348x910x1112x13 14x15 16x17 1,272
in1/3 ES-Module > Made ofimpa(t_
AT ABS plastic, Code No. Designation 5o
black grained
> 0il and acid resistent 5622890  1500E-34L  ES-Module empty 0,15
éstoo E§'5§4 . .:I] @Jz Code No. Contents Sie
et combination swive
head wrenches 1813196 1500ES-534  53410111314151719 1,614
in1/3 ES-Module > Made of impact- 26RS12
resistant ABS plastic,
b!ack gralped . Code No. Designation S
> Oil and acid resistent
1813226  1500E-534L  ES-Module empty 0,14
éSOkOtESt'EIBB .:I] O Code No. Contents Sieo
ocket se
in 1/3 ES-Module 1751239 1500E5-2133 213355678910 1,038
> Made of impact-
resistant ABS plaily Code No. Designation oy
black grained
> 0il and acid resistent 2823829 1500 ES-Module empty 0,14
E-2133L
éSCiOtESt_al%" .:I] m Code No. Contents iy
acket se
in1/3 ES-Module O @ O 6626230 1500 ES-20 |Zr$30535'5 667889 1011121314 1,066
45
TX20E4ESE6E7E8E10
> Made of impact- TX20T8T9T10T15T20 125127 T30 T40
resistant ABS plastic, 2087
black grained 2090-4
> Oil and acid resistent 209
2098
2093 U-10
Code No. Designation Py
5621490  1500E-20L  ES-Module empty 0,14
éSOROtESt-BB?B” .:I] m Code No. Contents oy
ocket se
in 1/3 ES-Module @;E @ 6626070  1500ES-30  30678910111213141516171819 1,83
IN30456810
3095
> Made of impact- 3087
resistant ABS plastic, 3090-5-10
black grained 3093U-10
> Oil and acid resistent
Code No. Designation &%
5621220  1500E-30L  ES-Module empty 0,14

057



Modules

1500 ES-ITX 30

: .:I] Code No. Contents S
Screwdriver
bit socket set 3/8" @ @ O 1640860 1500 ES- IN30L4567810 2,346
in1/3 ES-Module TX30 ITX30T20T25T27 T30 T40 T45 50
9 @ @ ITX30LT20T25T27 T30T40T45 T50
TX30ESE6E7ESE10E11E12E14
1S305,56,581012
Bhaaaadiniang > Made of impact- 1KS30123
0000010000000 resistant ABS plastic, IKS30PZD 123
LA black grained
> Oil and acid resistent
Code No. Designation &%
1643363 1500 ES-Module empty 0,14
E-ITX30L
1500 ES-19 1y ==
2 Code No. Contents S
Sockets 1/2", hexagon .:|:| @] ’
in1/3 ES-Module @k @ 6626580  1500E5-19  1910111213141516171819212223 242627 283032 2,956
IN196789101214
> Made of impact- -
resistant ABS plastic, Code No. Designation S
black grained 5621650  1500E-19L  ES-Module empty 0,14
> 0il and acid resistent
1500ES-D 19 1y
2 Code No. Contents Sie
Socket set 1/2", .:Ij @] “
UD-Profile @g[;s @ 1899694  1500ES-D19 D 1910111213 14151617 1819212223 242627283032 29
in1/3 ES-Module IN196789101214
> Made of impact- o
o 3 resistant ABS plastic, Code No. Designation Siee
o ; ololo black grained 5621650  1500E-19L  ES-Module empty 014
0000 > Oil and acid resistent
éS%OtESi/QE‘I'S .:I] @] Code No. Contents Siae
ocKet se
in1/3 ES-Module BT 9 @ 1733109  1500ES-191S 191011121314151617 1819212223 242627 283032 2,984
1S1910x1,6 12x2
IKS19234
> Made of impact- INX19810
resistant ABS plastic,
black grained . L
> 0il and acid resistent Code No. Designation Sk
5621650  1500E-19L  ES-Module empty 0,14
1500 ES-IN1S LKM 1y
2 Code No. Contents 5o
Screwdriver .:|:| @] @ N
bit socket set 1/2" 1402234  1500ES-IN  IN195678910121417 2,124
in1/3 ES-Module > e 19 LKM IN 19 L 5-90 6-90 8-90 10-140 12-140 14-140
resistant ABS plastic,
b!ack gralped . Code No. Designation Sige
> Oil and acid resistent
1402714 1500 E-IN ES-Module empty 0,15
111} lu 19LKM
1500 ES-ITX 19 LKP 1y
2 Code No. Contents Sho
Screwdriver .:Ij @ @ N
bit socket set 1/2" 1402226 1500 ES-ITX  ITX 19720725727 T30 T40 T45T50 T55 T60 2,156
in1/3 ES-Module > Made of impact- 19 LKP ITX 19 1 T20-100T25-100T27-100 T30-100 T40-100 T45-100
. . T50-100T55-100 T60-100
resistant ABS plastic, 708
000000000 black grained
> Qil and acid resistent
lllll;l l‘ltl.ll Code No. Designation Sige
- 1402706 1500 E-ITX ES-Module empty 0,15
19 LKP

058



Modules

1500 ES-1993 U-c0 .:I] @ Code No. Contents LoperS

Accessories for

socket wrenches 1/2" 1550756 1500 ES- 1993 U-20 1,9
in1/3 ES-Module > Made of impact- 19930-20 1987
resistant ABS plastic, 1995
. 1990-5-10
black grained
> Oil and acid resistent
Code No. Designation iy
5621810 1500 ES-Module empty 0,14
E-1993 L

1500 ES-1993 T .:I] @ Code No. Contents Sie

Accessories for

socket wrenches 1/2" 6626740  1500ES- 1993 U-10T 1,984
in1/3 ES-Module > Made ofimpa(t_ 19937 1987
resistant ABS plastic, 133(5) 510
black grained
> Oil and acid resistent
Code No. Designation Sie
5621810 1500 ES-Module empty 0,14
E-1993L

1500 ES-K19 L .:I] [@ o Code No. Contents S

Set impact sockets 1/2"

in1/3 ES-Module 1640836 1500ES-  K19L101314161718192122232427 3,394
> Made of impact- K191
resistant ABS plastic,
black grained N
Code No. D t] Sige
> 0il and acid resistent 0 S N
1643371 1500 E-K ES-Module empty 0,12
19LL

1500 ES-K1900 .:|:| m Code No. Contents s

Impact driver set 1/2"

in 1/3 ES-Module o @ @ @ 1402242 1500ESK  K191013141719 19

1900 88078912
88556810
> Made of impact- 8901234
resistant ABS plastic, KB819
black grained K1900
> Oil and acid resistent
Code No. Designation oy
1402722 1500 E-K ES-Module empty 0,15
1900 L
1500 ES-DT el4e Code No. Contents &ae
Hexagon socket key set -:| @ ’
in 2/3 ES-Module 1543474  1500ES-DT  DT214222,534567810 1337
> Made of impact- 24
resistant ABS plastic,
b!ack gralned . Code No. Designation Ske
> Oil and acid resistent
1543490 1500 E-DT ES-Module empty 0,27
21421

1500 ES-2150 PH .:I] e @ Code No. Contents S

Screwdriver set

in1/3 ES-Module 1523708 1500ES-2150 21504556,58 0,82
> Made of impact- PH 2160PHT2
resistant ABS plastic,
bl,aCk gralped . Code No. Designation Sie
> Oil and acid resistent
2823829 1500 ES-Module empty 0,14
E-2133L

059



Modules

1500 ES-2150 PZ

c o . .:I] 6 @ Code No. Contents Sioe
crewdriver se
in1/3 ES-Module 1523694  1500ES-2150 215045,56,58 0,846
> Made of impact- P 2160P212
resistant ABS plastic,
b!ack gralped . Code No. Designation Sioe
> Oil and acid resistent
2823829 1500 ES-Module empty 0,14
E-2133L
éSOOdES-EIGtB ™ .:I] @ Code No. Contents iy
crewdriver se
in1/3 ES-Module 1582666  1500ES-  2163TXT8TI0TI5T20T25T30 0,638
> Made of impact- 2163TX
resistant ABS plastic,
b!ack gralped . Code No. Designation e
> Oil and acid resistent
2823829 1500 ES-Module empty 0,14
E-2133L
éSOOdES-EIStB TXB .:|:| @ Code No. Contents Sige
crewdriver se
in 1/3 ES-Module 1616625 150052163 2163 TXBT10TIST20T25T30T40 0724
> Made of impact- 8
resistant ABS plastic,
bl,aCk gralped . Code No. Designation opS
> Oil and acid resistent
2823829 1500 ES-Module empty 0,14
E-2133L
|1:>5200 ES-VDE 2170 .:I] e @ Code No. Contents Sie
- 17 1500 ES-VDE  VDE21704 0,846
VO Serewarerset ﬁ 1900Y o 2?(7)8 P§ ' ngmg st %526'58
in1/3 ES-Module
> Made of impact- -
resistant ABS plastic, Code No. Designation e
black grained 2823829 1500 ES-Module empty 0,14
> Oil and acid resistent E-2133L
_ a
]F')?EC:SSEE 145 .:I:I w Bpall (ode No. Contents ooy
in1/3 ES-Module 6614650 1500 ES-145 14210JC 14
> Made of impact- gﬁg}ig jg
resi : :
esistant ABS plastic, 8316160 IC
black grained
> Oil and acid resistent
Code No. Designation 5o
5620840  1500E-145L ES-Module empty 0,14
_ a
il/%cg)g\'ES VEE 145 w Bepall Code No. Contents 5%
iers se
in1/3 ES-Module 1733079 1500 ES-VDE 14210C 132
> Made of impact- 14 xgg gﬁglgg :
resistant ABS plastic, VDE8314-160
black grained
> Oil and acid resistent
Code No. Designation S
5620840  1500E-145L  ES-Module empty 0,14

060



Modules

1500 ES-8000

.:I] @ @ Code No. Contents Sio®
Circlip pliers for
retaining rings 1402196 1500 ES-8000 8000A 1 1,136
in 1/3 ES-Module > Made of impact- 8000A2
resistant ABS plastic, 8000A21
. 8000J1
black grained
0il and acid resi 8000J2
> Qil and acid resistent 800021
Code No. Designation Sio®
1446479 1500 ES-Module empty 0,15
E-8000 L
1500 ES-137
Code No. Contents Si®
Grip wrench set .:|:| N
in1/3 ES-Module 2188198  1500ES-137 1387" 1,97
> Made of impact- E; 1;(([); .
resistant ABS plastic, 138Y )
black grained
> Oil and acid resistent
Code No. Designation Sige
2188139  1500E-137L  ES-Module empty 0,14
1500 ES-350
Code No. Contents Sie®
Chisel set .:|:| “
in1/3 ES-Module 6613760 1500 ES-350  97-250 1,818
> Made of impact- 98-125
resistant ABS plastic, 3301 2125
black grained :
> 0il and acid resistent 1151534
600 H-300
Code No. Designation opS
5620680  1500E-350L ES-Module empty 0,14
1500 ES-711
Code No. Contents Sig®
Precision mechanics .:|:| ’
in1/3 ES-Module 1402218 1500ES-711 140 0,972
> Made of impact- 45345
resistant ABS plastic, 708
. m
black grained
> 0il and acid resistent 0
745
Code No. Designation oy
1402692  1500E-711L  ES-Module empty 0,15
1500 ES-1.07
Code No. Contents Sie®
Puller set .:|:| N
in1/3 ES-Module 1933213 1500ES-1.07  1x106/103 1,98
> Made of impact- 1"10174/321340
g p X1
resistant ABS plastic, 3 106/5100-E
black grained
> Oil and acid resistent
Code No. Designation Sio®
1933248  1500E-1.07L ES-Module empty 0,2

061



Modules

1500 ED-30
Distance module
empty

> For fixing the tool — o W
modules No. 1500 ES in 5626370  1500ED-30 157
the drawer sizes
W 480 x D 350 mm

> Made of impact-
resistant ABS plastic,
black grained

> Dimensions:

W 157 xD 30 x H42 mm

30

L)

e
0,03

1500 ED-70
Distance module
with small boxes

m Code No. w

5627930  1500ED-70L 475

77

40

e
0,75

v

For balancing and fixing 6627120  1500ED-70 475
tool modules

No. 1500 ES in the large
capacity drawers

W 480 x L 400 mm for
tool trolley No. 2004 and
workbenches No. 1502,
1504, 1505 and 1506 XL
Sheet steel module with
4 practical transparent
boxes, version L

without boxes
Dimensions:

W 475xD 77 x H40 mm

v

v

77

40

0,90

1500 ED-70K
Distance module
empty

m Code No. W

1618687  1500ED-70K 475

v

For balancing and fixing
tool modules

No. 1500 ES in drawers
of depth 400 mm, for
tool trolleys No. 2004
and workbenches

No. 1502, 1504, 1505
and 1506 XL

Made of impact-
resistant ABS plastic,
black grained
Dimensions:
W475xD 77 xH40 mm

v

N

77

40

Sie
0,12

1500 ED-705S
Distance module 1/3
empty

062

For tool trolley Code No. w
No. WSL-L7 (workster) 1851462  1500ED-70S 152
and No. 2005,

workbench No. 1504 XL

and tool chest No. 2430,

suitable as spacer for

1/3 module

Module in sheet steel

Dimensions:

W152xD 77 xH40 mm

v

v v

77

40

ok

0,15



Modules

1500 ED-70 XL

man

Code No. W D H Sige
Distance module
empty 1803069 1500 625 77 40 0,854
> Suitable to take torque ED-70XL
wrenches and other
long hand tools or
small pieces
> For tool trolley
No. WSL-L7 (workster)
and No. 2005, work-
bench No. 1504 XL and
tool chest No. 2430
> Module in sheet steel
> Dimensions:
W 625xD 77 x H40 mm
1500 ED-230CT Code No. W D H &
Distance module
empty 3036650 1500 475 230 35 0,055
ED-230 (T
1500ED-85 M Code Mo W D H &
Distance module
empty 1972588  1500ED-85 538 85 40 0,845
> Module in sheet steel
> Dimensions:
W 538 xD 85xH40 mm
1500 ED-150K M Code Mo, W D H s
Distance module
empty 1879243 1500 480 150 42 0,15
ED-150K

> Suitable to take torque
wrenches and other
long hand tools or
small pieces

> Made of impact-
resistant ABS plastic,
black grained

> Dimensions: W 480 x
D150 x H 42 mm

WWWW.GEDORE.COM

063



Modules

%508 CIE'I B -:| Code No. Contents oy
ombination
Spanner set 2308819 1500(T2-1B 1B67891011121314151617 1819202122 2,385
in 2/3 Check-Tool-Module > Dimensions: PH42-88(22,53456810)
315x310x35mm
Code No. Designation LS
2322277  EI-1500CT2-1BL  Check-Tool-Module empty 0,07
%)SOS CTé—% ‘ .:|:| Code No. Contents oo
ouble ended ring
spanner set 2308827  1500(T1-2 Double-ended ring spanner UD profile No. 2 1,36
in1/3 Check-Tool-Module > Dimensions: 6x7 8x9 10x11 12x13 14x15 16x17 18x19 20x22 mm
157.5x310x 35 mm
Code No. Designation oy
2322285  EI-1500CT1-2L  Check-Tool-Module empty 0,05
:[1)505) CTi_Ld’O‘O .:I:I Code No. Contents oy
ouble ended ring
spanner set, open 2309068 1500 CT1-400 Double ended ring spanner open hex No. 400, 0,565
in1/3 Check-Tool-Module > Dimensions: 8x10 10x11 12x14 13x15 17x19 mm
157.5x310x 35 mm
LA 92 Code No. Designation S
\\\ 2324210 EI-1500CT1-400L  Check-Tool-Module empty 0,05
:EL]SOS CT1-6 o .:I] Code No. Contents &id
ouble open ende
spanner set 2308851 1500 (T1-6 Double open-ended spanner No. 6, 6x7 8x9 10x11 12x13 1,44
in1/3 Check-Tool-Module > Dimensions: 14x15 16x17 18x19 20x22 21x23 24x27 mm
157.5x310x 35 mm
Code No. Designation Prs
2322307  EI-1500CT1-6L  Check-Tool-Module empty 0,05
%508 CIE'7 -:| Code No. Contents oo
ombination
spanner set 2308878 1500 CT2-7 Combination wrench No. 7, 1,75
in 2/3 Check-Tool-Module o 67891011121314151617181920 2122 mm
> Dimensions: Offset screwdriver set No. PH 42-88 hexagon
315%310x 35 mm 2253456810 mm
Code No. Designation BT
2324164  EI-1500CT2-7L  Check-Tool-Module empty 0,07

064



Modules

1500 CTe-7-32

oot -:| Code No. Contents 5o
ombination
spanner set 2308886 1500 (T2-7-32 Combination spanner No. 7,23 24 27 30 32 mm 1,865
in 2/3 Check-Tool-Module > Dimensions:
315x310x35mm Code No. Designation 550
2324172 EI-1500 Check-Tool-Module empty 0,07
(12-7-32L
%SOS C-trl_7 Rt ot .:I] Code No. Contents oy
ombination ratche
spanner set 2308894  1500(T1-7R Combination ratchet spanner No. 7 R, 1,24
in1/3 Check-Tool-Module > Dimensions: 810121314151617 18 19 mm
157.5x310x 35 mm
Code No. Designation &%
2322315 EI-1500 Check-Tool-Module empty 0,05
(T-7R-URL
%508 CIJ"7 USh . .:I:I Code No. Contents oy
ombination ratche
spanner set, 2331969  1500(T1-7 UR Combination ratchet spanner No. 7 UR, 1,245
i 810121314151617 18 19 mm
n %Sggck—ToorModu\e > Dimensions:
157.5x310x 35 mm
Code No. Designation oy
2322315 EI-1500(T1- Check-Tool-Module empty 0,05
7R-URL
%SOS C-trl'7 Rf\h . .:|:| Code No. Contents apers
ombination ratche
spanner set 2327686 1500CT1-7RA  7R8101213141516171819 127
in1/3 Check-Took-Module oL o 7RA-12,5-10-6,3
. 7RB-6,3
157.5x310x 35 mm
Code No. Designation oy
2327708  EI-1500(T1- Check-Tool-Module empty 0,05
7RA-URAL
%508 C11'7 URA .:|:| Code No. Contents &%
ombination
ratchet spanner set, 2327678  1500CT1-7URA  7UR8101213 141516171819 1,28
reversible N 7RA-12,5-10-6,3
in1/3 Check-Too-Module > ?'5';“;"5';’1”; o 7RB-63
5x310x
Code No. Designation oy
2327708  EI-1500 CT1- Check-Tool-Module empty 0,05
7RA-URAL

065



Modules

1500 CT1-534

o e el .:I] PRIVE Code No. Contents oS
et combination swive
head wrenches 2309076 1500 (T1-534 53410111314151719 1,405
In1/3 Check-ToolModule o oo o 26R512
157.5x310 x 35 mm
Code No. Designation opS
2322455  EI-1500(T1-534L  Check-Tool-Module empty 0,05
éSiOtCTE'-EIBB .:I] O Code No. Contents opS
ocket se
in1/3 Check-Tool-Module 2309122 1500(T1-2133  Socket wrench with 3Chandle No. 2133,5.56789 10 mm 0,82
> Dimensions:
157.5x310x35 mm Code No. Designation opS
2322501  EI-1500CT1- Check-Tool-Module empty 0,05
2133L
éS%OtCTS-IE/S' .:I] @ O Code No. Contents LTS
ocket se
in1/3 Check-Tool-Madule @ O 2308967 1500 (T1-20 1/4" socket No.20 hex455.56789101112 13 14 mm 0,845
1/4" screwdriver bit socket No. IN 20 hex 3456 8 mm
1/4" screwdriver bit socket No. ITX 20, T8 T9T10T15T20 725727 T30 T40 mm
. . 1/4" socket No. TX 20, E4 E5 E6 E7 E8 E10
> Dimensions: 1/4" sliding T-bar with slider No. 2087, 115 mm
157.5x310x35 mm 1/4" extension No. 2090-4. 97 mm
1/4" universal joint No. 2095
1/4" square plug-in handle No. 2098, 2C handle
1/4" reversible ratchet U-10, 127 mm
Code No. Designation oy
2322374  EI-1500CT1-20L  Check-Tool-Module empty 0,05
éSCE(OtCTDEO B ItTl/éf” @ O e @ Code No. Contents oS
ocket assortmen
in Check-Tool-Module @ @ @ 1733419 1500 CTD-20BIT  1/4" socket wrench insert No. 20, 445567891012 13 mm 07

066

v

Only suitable for tool
trolley 2004, and work-
benches 1502, 1504,
1505 and 1506 XL

For models No. 2005,
No. WSL-L7 (workster),
No. 2430 and No. 1504
XL order additional
distance module

No. 1500 ED-70 S
Dimensions:

W 475xD 77 xH40 mm

v

N

1/4" screwdriver bit No. 680,45.56.5 8 mm
1/4" screwdriver bit No. 685,2.534 56 mm
1/4" screwdriver bit No. 685 X 5 6 8 mm
1/4" screwdriver bit No. 687 TXT6 T7 T8 T9T10 T15T20T25 727 T30 T40
1/4" screwdriver bit No. 690123

1/4" screwdriver bit No. 690 PZD 123
Miniature LED light No.649

Insert holder No. 673 6,3

Bit holder No. 699

1/4" bit adapter No. 620

Multi-handle No. 676

Combination holding tool No. 639



Modules

1500 CT1-30

Cocket 2ot 3/0" Code No. Contents 5o
ocket se
in 1/3 Check-Tool-Madule 2308975 1500 (T1-30 3/8" socket hexNo.30,6 78910111213 141516171819 167
. . 3/8" screwdriver bit socket hex, No.IN 30,4568 10 mm
> Dimensions: 3/8" universal joint No. 3095, 51 mm
CCTEEE BB E 157.5x310x35 mm 3/8"sliding T-bar No. 3087
etk AL L 3/8" extension No. 3090 -5 -10, 125 250 mm
o 90000 - 3/8" reversible ratchet No. 3093 U-10, 200 mm
Code No. Designation e
2322382  EI-1500CT1-30L  Check-Tool-Module empty 0,05
éSOOdCTl'ITX 30 .:|:| @ @ Code No. Contents i
crewdriver
bit socket set 3/8" o e @ @ 2308983 1500 CT1-ITX30  Socket wrench insert 3/8" No.TX 30 E5 E6 E7 E8 E10 E11 E12 E14 2,175
in1/3 Check-Tool-Module Screwdriver bit socket 3/8" No. IN30 L, hexagon 4567 8 10 mm
Screwdriver bit socket 3/8" No. ITX 30 T20T25T27 T30 T40 T45 T50
> Di — Screwdriver bit socket 3/8" No. ITX 30 LT20T25T27T30T40T45 750
INETEES; Screwdriver bit socket 3/8" slot No. IS 30, 5.56.58 10 12 mm
157.5x310x 35 mm Screwdriver bit socket 3/8" No. IKS30 123
Screwdriver bit socket 3/8" No. IKS30 PZD 123
Code No. Designation oy
2322390  EI-1500 Check-Tool-Module empty 0,05
(M-ITX30L
éSiOtCTtli]/-g' .:I:I Code No. Contents Loy
ocket se ,
hexagon 2308908 1500 CT1-19 Socket wrench insert No. 19, 2,79
in 1/3 Check-Tool-Madule o 10111213 141516 1718192122 23 24 26 27 28 30 32 mm
> Dimensions: Screwdriver bitinsert No. IN 19,6 7891012 14mm
157.5x310x 35 mm
©OOBO60000
DOOOC 9f ) ” Code No. Designation 550
000000 QO 2322323 E-1500CT1-19L  Check-Tool-Module empty 0,047
ésciotc-rtlil/ja}g .:I] DRIVE @ Code No. Contents oo
ocket se ,
UD-Profile 2308916  1500CT1-D19  Socket wrench insert 1/2" No.D 19, 2,68
in1/3 Check-Tool-Module o 10111213 141516 1718192122 23 24 26 27 28 30 32 mm
> Dimensions: Screwdriver bit socket 172" No. IN 19,6 78910 12 14 mm
157.5x310x 35 mm
POBBBO00060
ODODOO 6 (&) Code No. Designation Sl
ooccce- QO 2322323 E-1500CT1-19L  Check-Tool-Module empty 0,047
éSCiOtCTtljg' 1> .:|:| (3’%’/55 6 Code No. Contents oy
ocket se
in1/3 Check-Tool-Module @ @ 2308924  1500(CT1-191S 1910111213 14151617 1819212223 2426 27 283032 2,765
1S1910x1,6 12x2
1KS19234
. . INX19810
> Dimensions:
©OO0OO6606 157.5x310x 35 mm
ccooooo EE
0o Code No. Designation 5o
2322331 EI-1500 Check-Tool-Module empty 0,05
(m-19ISL

067



Modules

1500 CTI-IN1S LKM
Code No. Contents So
Screwdriver .:|:| @ ’
bit socket set 1/2" 2308932 1500 CT1-IN Screwdriver bit socket 1/2" No.IN 19,6789 1012 14 mm 19
in1/3 Check-Too-Module 3 Dimensions: 19 LKM Screwdriver bit socket 1/2" No. IN 19 L 6-140 7-140 8-140
157.5x 310 % 35 mm 9-140 10-140 12-140 14-140
Code No. Designation oy
2957647  EI-1500CT1-IN  Check-Tool-Module empty 0,05
19LKM
1500 CT1-INX19 LK
Code No. Contents S
Screwdriver .:|:| @ kg
bit socket set 1/2" 2957957 1500 CT1-INX INX19810121416 18 1,044
in 1/3 Check-Too-Module > Dimensions: 191K INX19 L 6-1008-100 10-100 12100 14-100
157.5x310x35 mm
Code No. Designation Sie
2957949  EI-1500CT1-INX  Check-Tool-Module empty 0,05
19LK
1500 CT1-ITX 19 LKP
Code No. Contents Si®
Screwdriver .:I:I @ “
bit socket set 1/2" 2308940 1500 CT1-ITX Screwdriver bit socket 1/2" No. ITX 19 1,915
in1/3 Check-Too-Module 3 Dimensions: 19LKP 120125727 T30 T40T45 T50T55 T60
1575 310' 35 Screwdriver bit socket 1/2" No. ITX 19 L
2 X3IUXS mm T20-100T25-100T27-100 T30-100 T40-100 T45-100 T50-100 T55-100 T60-100
TX Screw Gauge No. 708
aasazaiil,
c00000000
Code No. Designation Sio®
2322366  EI-1500CT1- Check-Tool-Module empty 0,05
ITX19LKPL
1500 CT1-1993 U-20 Code No. Contents fopd
Accessories for
socket wrenches 1/2" 2309114 1500 (T1-1993 1993 U-20 17
in1/3 Check-Too-Module 3 Dimensions: U-20 1987
’ 1995
157.5x310x35 mm 1990-5-10
Code No. Designation iy
2322498  EI-1500 Check-Tool-Module empty 0,05
(T1-1993L
1500 CT1-1993 T
Code No. Contents 5o
Accessories for .:|:| “
socket wrenches 1/2" 2309106 1500 CT1-1993T  1/2"reversible ratchet No. 1993 U-10T 1,765
in1/3 Check-Tool-Module 'y Dimensions: 1/2" sliding T-bar No.1987, 292 mm

1/2" universal joint No. 1995

1575 310%35 mm 1/2" extension No. 1990, 125 250 mm

Code No. Designation oy
2322498  EI-1500 Check-Tool-Module empty 0,05
(T1-1993 L

068



Modules

1500 CT1-K 1900 .:|:| @ 6 Code No. Contents S

Impact driver set 1/2"

in 1/3 Check-Tool-Module o @ 2309092  1500CT1-K1900  K191013141719 2,645
K191517192122

88078912

> Dimensions: 88556810

157.5x310x 35 mm 8901234
KB 819

K1900

Code No. Designation Sie

2322471 EI-1500 CT1-K Check-Tool-Module empty 0,05
1900L

1500 CTe-DT 2142

Hexagon socket key set

-:| @ Code No. Contents Sae

in 2/3 Check-Tool-Module 2309009 1500 CT2-DT 2142  Offset screwdriver with 2CT-handle No. DT 2142, 09
. . 22534567810mm
> Dimensions:
315x310x35 mm
Code No. Designation 5o
2322412 EI-1500 Check-Tool-Module empty 0,07

(T2-DT 21421

1500 CT1-2150 PH .:I:I 6 @ Code No. Contents oS

Screwdriver set
in 1/3 Check-Tool-Module 2309130  1500CT1-2150 PH  3Cscrewdriver slotted No. 2150, 4 5.5 6.5 8 mm 0,63

3Cscrewdriver cross-slotted No. 2160 PH 12

> Dimensions:
157.5x310x35 mm
Code No. Designation oy
2322528  EI-1500 Check-Tool-Module empty 0,05
(T1-2150L

1500 CT1-2150 PZ .:I] e @ Code No. Contents Se

Screwdriver set
in1/3 Check-Tool-Module 2309149 1500 CT1-2150 PZ  3Cscrewdriver slotted No. 2150, 4 5.5 6.5 8 mm 0,63

3Cscrewdriver cross-slotted No. 2160 PZ 12

> Dimensions:
157.5x310x 35 mm
Code No. Designation Soe
2322528  EI-1500 Check-Tool-Module empty 0,05
(T1-2150L
1500 CT1-2163 TX
Code No. Contents Sige
Screwdriver set .:Ij @ o
in1/3 Check-Tool-Module 2309157  1500(T1-2163TX  3Cscrewdriver recessed TX with drill hole No. 2163 TX, 04
. . T8T10T15T20T25T30 mm
> Dimensions:
157.5x310x 35 mm
Code No. Designation Si5e
2322544 EI-1500 Check-Tool-Module empty 0,05
(T1-2163TX

069



Modules

1500 CT1-2163 TXB

- o . .:|:| @ Code No. Contents 5o
crewdriver se
in1/3 Check-Tool-Module 2309165 1500 CT1-2163 3Cscrewdriver recessed TX 0,5
> Dimensions: TXB with drill hole No. 2163 TXB,
: T10T15T20T25T30 T40 mm
157.5x310x35 mm
Code No. Designation opS
2324237  EI-1500 Check-Tool-Module empty 0,05
(T1-2163TXB
égz’oo CT1-VDE 2170 .:I] 6 @ Code No. Contents Sige
VDE Screwdriver set 2309173 1500 CT1-VDE VDE Screwdriver slotted No. VDE 2170, 4 5.56.5 8 mm 0,625
in1/3 Check-Tool-Module 3 Dimensions: 2170PZ VDE Screwdriver cross recess No. VDE 2160 PZ 12
157.5%310x35 mm
Code No. Designation 5o
2322552 EI-1500CT1-VDE  Check-Tool-Module empty 0,05
2170
:Fl)‘SOO C;l'l-llfa .:I] Code No. Contents S
iers se
in1/3 Check-Tool-Module 2309025 1500 CT1-142 10" universal pliers No. 142 10 JC, 2Chandle 1,217
> Dimensions: Power combination pliers No. 8250-180 JC, 180 mm 2Chandle
MIIHBIEE Bent nose pliers No. 8132-160 JC, 160 mm 2C handle
157.5x310x 35 mm Power side cutter No. 8316-160 JC, 160 mm 2C handle
Code No. Designation oy
2322420  EI-1500CT1-142L  Check-Tool-Module empty 0,05
il/g(EJ%'CTI-VtDE l4c .:I] Code No. Contents oy
jers se
in1/3 Check-Tool-Module 2309033 1500 CT1-VDE 142  Universal Pliers No. 14210 C, 10" 1,158
> Di — VDE Power combination pliers No. VDE 8250-180 H
LS IEIFE VDE Flat-nosed Pliers No. VDE 8132-160 H
157.5x310x35 mm VDE Side cutter No. VDE 8314-160 H
Code No. Designation &%
2322439 EI-1500 Check-Tool-Module empty 0,05
(T1-VDE142L
:éStOCf) CT%_B?OO .:I] Code No. Contents Soe
et of circlip pliers
in1/3 Check-Tool-Module 2309181 1500 (T1-8000 Circlip pliers for external retaining rings No. 8000A 1A 2A 21 1,009
) . Circlip pliers for internal retaining rings No. 8000J 1) 2 21
> Dimensions:
157.5x310x35 mm
Code No. Designation Si5e
2322560  EI-1500 Check-Tool-Module empty 0,05
(T1-8000 L

070



Modules

1500 CT1-350
Code No. Contents So
Chisel set .:|:| ’
in1/3 Check-Tool-Module 2309041 1500 (T1-350 Flat chisel No. 97-250, 250x24 mm 1,425
> Dimensions: Cross-cut chisel No. 98-125, 125 mm
3 0' 3 Drift punch No. 99 12-512-8,@ 5 8 mm
157.5x310x 35 mm Centre punch No. 100-12, 120x12x5 mm
Pin punch, No. 119-1.53 4 mm
Engineers’hammer ROTBAND-PLUS No.600 H-300,
with hickory shaft 300g
Code No. Designation Sie
2322447  EI-1500(T1-350L  Check-Tool-Module empty 0,05
1500 CT1-711 ==
Code No. Contents S
Precision mechanics .:|:| N
in1/3 Check-Tool-Module 2309084 1500 CT1-711 140 0,93
; : 4534-5
> Dimensions: 708
157.5x310 x 35 mm m
720
745
Code No. Designation oy
2322463  EI-1500(T1-711L  Check-Tool-Module empty 0,05




Modules

IN 3 SIZES:

I CT-MODULE 2005CT

For XL volume drawers

o (T4="1/1drawer 2005, workster (633 x 390 x 35 mm)
o (T4 suitable for 2005, workster, 1504 XL, 2430

2005 (T4-U-20

- m Code No. Contents Sige

Socket set 2016257 2005 1/4" socket wrench insert No. 20,5.56 78910111213 14 mm 7,64
1/4"-3/8"1/2" (T4-U-20 1/4" reversible ratchet No. 2093 U-20
in 4/4 Check-Tool-Module > Dimensions: 1/4" cross-handle ratchet No. 2093 U-3T

633 %390 x 35 mm 1/4" extension No. 2090-4 -6, 97 148 mm

1/4" universal joint No. 2095

3/8" socket wrench insert No. D 30,8910111213 14151617 18192122 mm
3/8" screwdriver bit socket No.IN30L, 4567810

3/8" screwdriver bit insert No. ITX 30 L, T20 T25 727 T30 T40 T45 T50
3/8" socket wrench insert No. TX 30, E5 E6 E7 ES ET0 E11 E12 E14
3/8" screwdriver bit socket No. IKS 30,123

3/8" screwdriver bit socket No. IKS30PZD 123

3/8" screwdriver bit insert No. 1530, 5.56.58 10 12 mm

3/8" spark plug insert with retaining spring 20.8 mm

3/8" spark plug insert with retaining spring 16 mm

3/8" spark plug insert with retention spring 18 mm

3/8" reversible ratchet No. 3093 U-20

3/8" extension with release No. 3090 A-5-10

3/8" universal joint No. 3095

1/2" socket wrench insert No. D 19,

1011121314151617 1819212223 24273032 mm

1/2" reversible ratchet 1/2" No. 1993 U-20

1/2" extension 1/2" No. 1990-5-10, 125 250 mm

1/2" reducer 1/2" to 3/8" No. 1930

1/2" universal joint 1/2" No. 1995

1/2" articulated handle No. 1996, 255 mm

2005(CTe-D19 ) .:| @ Code No. Contents S

Socket assortment 1/2

in 2/4 Check-Tool-Module 2016494 2005 D1910111213141516 17181920 21222324 25262728 2930323436 47
> Dimensions: (T2-D19 1990-5-10
: 1993 U-20
316.5x390 x 35 mm 1995
1996

2005(CTe-D30 .:| m Code No. Contents Sie

Socket set 3/8"in
2/4 Check-Tool-Module 2016486 2005 D3010111213 141516 171819202122 36

(T2-D30 D301/45/163/813/327/161/29/1619/325/8 11/16 3/4 13/16 25/327/8 15/16 1"
D30L1013171922
525356
3090-3-5-10
3093 U-20
3095
3096

> Dimensions:
316.5 %390 x 35 mm

————
——r
—
J—
—_—
—_—
[——
—

072



Modules

2005 CTe-De0

.:| m Code No. Contents She
Socket assortment 1/4"
in 2/4 Check-Tool-Module 2016478 2005 D20445555678910111213 19
> et (12-D20 D203/167/321/49/325/1611/3213/323/87/161/29/16"
' 20L445555678910111213
316.5%390 x 35 mm 2093 U-20
2093 U-3T
2093 HR-94
2090-2-4-6-12
2095
2097
2098T
620
639
6804 6,5
6853456
685X568
69012
690PZD123
687 TXT8T9T10T15T20T25T27 T30 T40
2005 (CT3-32 3
Socket assortment 3/4" -:| m Code fo Contents e
in 3/4 Check-Tool-Module 2752727 2005(T3-32  Socket wrench insert 3/4" hexagon UD profile 9
. . No.32,22242730323638414650
> Dl e Extension 3/4" No. 3290-8 -16 200 mm, 400 mm
472.5x390% 50 mm reversible ratchet 3/4" No. 3293 U-2, 510 mm
> Suitable for: all drawers Cross handle 3/4" No. 3287
of models B 1500, 1502,
1505, ando only drawers
with height 137 and
207 mm of models No.:
1504, 1504 XL, 1506,
1507 XL, 2004, 2005,
WSL-L7 (workster),
WHL-L7 (workster),
WSL-M6 (workster)
2005 CT4-2-7
Combrotion - Code No. Contents Sioe
spanner set 2016265 2005 (T4-2-7 26x7 8x9 10x11 12x13 14x15 16x17 18x19 20x22 21x23 24x27 59
in 4/4 Check-Tool-Module 3 pimensions: 7678910111213 14151617 181921222427
633 %390 x 35 mm 7R10111213141516171819 22
2005 CT4-7 XL - Spive Code No. Contents oo
Combination
spanner set 2704226 2005 Combination spanner No. 7 XL, 10111213 141516 17 8,15
in 4/4 Check-Tool-Module 3 pimensions: (T4-7XL 181921222427303236 41 mm
633 x390x 35mm
2005 CT2-25PK
Tubular box spanner set .:| O Code o Contents e
in 2/4 Check-Tool-Module 2841851 2005 25PK810111213141516171819 2,6
. — (T2-25PK
> Dimensions:
316.5x390x 35 mm

073



Modules

2005 CT2-2160
Screwdriver set
in 2/4 Check-Tool-Module

N

> Dimensions:
316.5%390 x 35 mm

Code
2016311

No.

2005
(T2-2160

Contents She

2160PH 123 1,6
2160P2123

21503,55,58

21534

2161PH1

2161PZ1

17348

1741

2005 CTe-119
Tool assortment
in 2/4 Check-Tool-Module

_

> Dimensions:
316.5x390 x 35 mm

Code
2016338

No.

2005
(12-119

Contents LoparaS

95-200 2,73
9912-312-512-612-8

100-12

119-3-4-5-6-8-84-86-175

132-150

133 F-150 133 D-150

70220 M

7067114612

2005 CT4-2160-119
Tool assortment
in 4/4 Check-Tool-Module

> Dimensions:
633x390x 35 mm

Code
2016435

No.

2005 CT4-
2160-119

Contents So

2160PH123 4,05
2160PZ123

21503,55,58

21534

2161PH1

2161PZ1

17348

1741

95-200
9912-312-512-612-8
100-12
119-3-4-5-6-8-84-86-175
132-150

133-150

133D-150

70220 M

706

m

4612

2005 CT4-8000
Tool assortment
in 4/4 Check-Tool-Module

> Dimensions:
633x390x35mm

Code
2016303

No.

2005
(T4-8000

Contents Sio

Engineers"hammer ROTBAND-PLUS No. 600 H-300 -500 41
Recoilless hammer No. 248 ST-40

Universal pliers No. 142 10 JC

Bent nose pliers No. 8132-160 JC

Power side cutter No. 8316-160 JC

Power combination pliers No. 8250-180 JC

Circlip pliers for external retaining rings No. 8000 A 12 21

Circlip pliers for internal retaining rings No. 8000 J 12 21

2005 CTe-TX30

Socket set 3/8" .:| @
in 2/4 Check-Tool-Module @ O @ @

> Dimensions:
316.5x390 x 35 mm

c Ti

1

(&)

COCE,

074

Code
2016508

No.

2005
(T2-1X30

Contents 5o

IN304567810 3,2
IN30 L 4-95 5-95 6-95 7-95 8-95 10-95

IN30LK456810

ITX30T20T25T27 T30 T40 T45T50

ITX30LT20T25T27 T30 T40 T45T50

ITX30BT20T25T27 T30 T40 T45T50

TX30E5E6E7EBE10E11E12E14

INX30568

INX30L6810



Modules

2005 (CTe-D1SL ) .:| (:{:.’:}’/Js @ Code No. Contents Sue

Socket assortment 1/2

i “Tool- 2016516 2005 D19L10121314151617181921222427303234 6,9
e/ Checeloortodule @ @ o @ (12-D19L IN191012141719

INT9L12-140 14-140

% 5 DTS IN19 LK 10-140 12-140

o 316.5%390 X35 mm INX191214

o INX 19 L 12-100 14-100

® ITX19T55T60

Q ITX 19 LT55-100T60-100

t)) ITX19BT50T55T60

Q TX19E16 E18 E20 E24
2005 CTe-2142 TX
Ceromtivor cot .:| @ Code No. Contents oy
in 2/4 Check-Tool-Module 2016559 2005 (T2- 2142TXT15T20T25T27 T30 T40 07

> Dimensions: 2142TX
316.5x390 x 35 mm

;*H \‘

2005 CTe-DT 2142
Cod No. Content; Sige
Hexagon socket key set .:| @ oce o ontens

in 2/4 Check-Tool-Module 2016540  2005(CT2-DT  DT214222,534567810 1,45
2142 H42KEL-88(22,53456810)

> Dimensions:
316.5x390x 35 mm

2005 CTe-2143 KTX
Cod No. Content: Soe
Hexagon socket key set .:| @ ode ° ontens

in 2/4 Check-Tool-Module 2016567  2005CT2- DT 2143KTXTI0TIST20T25T27T30T40 062
2143KTX

> Dimensions:
316.5x390x 35 mm

2005CTe2-2133T
Socket set .:I O Code No. Contents o
in 2/4 Check-Tool-Module 2016532 2005 (T2- 2133778910111213 1,351
> Dimensions: 1337
316.5x390x 35 mm

075



